
CHEMISTRY

JEE (MAIN AND ADVANCED) CHEMISTRY

AMINES AND AZO COMPOUNDS

Level I Exercise I Nitrobenzene

1. Steam distillation method is useful for the puri�cation of

A. Nitrobenzene

B. Benzene

C. Aniline

D. Both Nitrobenzene and Aniline

Answer: D

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sUkFRTxFUagW


Watch Video Solution

2. Nitrobenzene is reduced with , The product is

A. Azobenzene

B. Hydrazobenzene

C. N-Phenyl hydroxylamine

D. Aniline

Answer: A

Watch Video Solution

LiAlH4

3. Among the following which is less reactive towards electrophilic

substitution reactions

A. Benzene

B. Nitrobenzene

https://dl.doubtnut.com/l/_sUkFRTxFUagW
https://dl.doubtnut.com/l/_60GMQEYed12A
https://dl.doubtnut.com/l/_pZmz8Dep6r6b


C. Aniline

D. Toluene

Answer: B

Watch Video Solution

4. The following is used in the preparation of �oor polishes

A. Nitrobenzene

B. Aniline

C. Benzene diazonium chloride

D. Phenyl hydroxyl amine

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_pZmz8Dep6r6b
https://dl.doubtnut.com/l/_V2BmiNJARhi1


5. Nitrobenzene is used as a solvent in

A. Wurtz's reaction

B. The preparation of Grignard reagent

C. Friedel-Craft's reaction

D. Diazotisation reaction

Answer: C

Watch Video Solution

6. Which is used as a cheap perfume

A. Aniline

B. Ethyl alcohol

C. Acetone

D. Nitrobenzene

https://dl.doubtnut.com/l/_KUoqhgt8Gxb5
https://dl.doubtnut.com/l/_2N1AYYRP058A


Level I Exercise I Amines General

Answer: D

Watch Video Solution

1. IUPAC name of  is

A. trimethyl amine

B. 2-methyl butanamine-1

C. 2-methyl propanamine-2

D. 2-methyl propanamine-1

Answer: C

Watch Video Solution

(CH3)3C. NH2

2. Which one of the following is a tertiary amine?

https://dl.doubtnut.com/l/_2N1AYYRP058A
https://dl.doubtnut.com/l/_EfPiCzjz2AY0
https://dl.doubtnut.com/l/_WaHhkIGk8KL9


A. triethylamine

B. trimethylamine

C. 2-methyl propanamine-2

D. N-ethyl-N-methyl propanamine-1

Answer: C

Watch Video Solution

3. Which of the following shows optical activity ?

A. butanamine-1

B. butanamine-2

C. isopropyl amine

D. ethyl methyl amine

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WaHhkIGk8KL9
https://dl.doubtnut.com/l/_fHe2oJWmRBTs


4. IUPAC name of  is

A. 3-ethyl propanamine-1

B. 3-ethyl pentanamine-2

C. 3-ethyl pentanamine-3

D. 2-ethyl pentanamine-3

Answer: C

Watch Video Solution

(C2H5)3C − NH2

5. Number of saturated isomeric primary amines possible for the

molecular formula  is 

A. zero

B. 3

C. 2

C3H5N

https://dl.doubtnut.com/l/_fHe2oJWmRBTs
https://dl.doubtnut.com/l/_A9EPCN4ihSIv
https://dl.doubtnut.com/l/_xy88ccPgMfjA


D. 4

Answer: D

Watch Video Solution

6. Chemical formula of Hinsberg's reangent is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C6H5SO3H

C6H5NHSO2C6H5

C6H5SO2Cl

C6H5NHCOC6H5

7. For carbylamine reaction, we need alcoholic KOH and

https://dl.doubtnut.com/l/_xy88ccPgMfjA
https://dl.doubtnut.com/l/_31SdweLSHggK
https://dl.doubtnut.com/l/_qWuLOlWH0VzR


A. any primary amine and chloroform

B. aromatic primary amine and chloroform

C. aliphatic primary amine and chloroform

D. any amine and chloroform

Answer: A

Watch Video Solution

8. Aniline on acetylation gives

A. phenol

B. acetamide

C. acetanilide

D. benzene

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qWuLOlWH0VzR
https://dl.doubtnut.com/l/_2ZZhxjb01DC3


9. Treatment of ammonia with excess alkyl halide gives

A. triethyl amine

B. quaternary ammonium salt

C. diethyl amine

D. ethyl amine

Answer: B

Watch Video Solution

10. Aniline or reaction with con.  gives X. If X is heated, the product

is

A. sulphanilic acid

B. sulphonamide

C. benzene sulphonyl chloride

H2SO4

https://dl.doubtnut.com/l/_2ZZhxjb01DC3
https://dl.doubtnut.com/l/_aMF63V8BVg1R
https://dl.doubtnut.com/l/_2NYr5k0Lx6Iq


D. m-amino benzene sulphonic acid

Answer: A

Watch Video Solution

11. Incorrect statement among the following iis

A. methanamine is more basic than ammonia

B. ammonia forms H-bonds

C. boiling point of ethyl amine is higher than propane

D. dimethyl amine is less basic than aniline

Answer: D

Watch Video Solution

12. A primary amine on reaction with alc. KOH and chloroform yields

https://dl.doubtnut.com/l/_2NYr5k0Lx6Iq
https://dl.doubtnut.com/l/_MahEh4VMk3IU
https://dl.doubtnut.com/l/_WmGBzZRjwgxe


A. isocyanide

B. aldehyde

C. cyanide

D. alcohol

Answer: A

Watch Video Solution

13. Primary amines have lower boiling points than

A. corresponding alkanes

B. corresponding  and  amines

C. corresphonding esters

D. corresponding alcohols

Answer: D

Watch Video Solution

20 30

https://dl.doubtnut.com/l/_WmGBzZRjwgxe
https://dl.doubtnut.com/l/_2LERmUMAH7s4


14. Molecular association is highes in

A. n-propyl amine

B. trimethyl amine

C. ethyl methyl amine

D. equal in all

Answer: A

Watch Video Solution

15. Among isomeric amines possible for molecular formula ,

correct order of basic strength is given by 

I) propanamine-1 

II) N-methyl ethanamine 

III) N,N-dimethyl methanamine

C3H9N

https://dl.doubtnut.com/l/_2LERmUMAH7s4
https://dl.doubtnut.com/l/_mhYJE3edKObp
https://dl.doubtnut.com/l/_YjXekNi4n5sQ


Level I Exercise I Aniline

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

III > I > II

I > II > III

II > III > I

II > I > IV

1. Aniline is less basic than

A. 

B. 

C. N-methyl Aniline

D. All the above

NH3

CH3NH2

https://dl.doubtnut.com/l/_YjXekNi4n5sQ
https://dl.doubtnut.com/l/_ucQvARNKug8K


Answer: D

Watch Video Solution

2. Which of the following is a  amine

A. Tert. Butylamine

B. dimethyl amine

C. N-methylaniline

D. N, N-dimethyl aniline

Answer: A

Watch Video Solution

1∘

3. Which functional group responds to carbylamine test

A. −NH2

https://dl.doubtnut.com/l/_ucQvARNKug8K
https://dl.doubtnut.com/l/_461xHtG0oMz9
https://dl.doubtnut.com/l/_zaBrFz4IenMw


B. NH

C. 

D. N

Answer: A

Watch Video Solution

−CONH2

−
\

/

4. Among the following which is more basic

A. n - butyl amine

B. isobutylamine

C. Sec. butyamine

D. diethylamine

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_zaBrFz4IenMw
https://dl.doubtnut.com/l/_9Dq2Ds3wGHYS
https://dl.doubtnut.com/l/_j7rHQx38pgFj


5. Impure Aniline is puri�ed by

A. decantation

B. steam distilltation

C. distillation under reduced pressure

D. freactional crystallisation

Answer: B

Watch Video Solution

6. Towards litums, Aniline is

A. Acidic

B. Basic

C. Neutral

D. Bleaching agent

https://dl.doubtnut.com/l/_j7rHQx38pgFj
https://dl.doubtnut.com/l/_N0GHd9q9YPe7


Answer: C

Watch Video Solution

7. Which of the following can react with an alkyl halide

A.  amine

B.  amine

C.  amine

D. All the above

Answer: D

Watch Video Solution

1∘

2∘

3∘

8. The substance with o�ensive odour

A. C6H5CN

https://dl.doubtnut.com/l/_N0GHd9q9YPe7
https://dl.doubtnut.com/l/_L4CT123cIcQD
https://dl.doubtnut.com/l/_PeDz4uYCCJj3


B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H5NO2

C6H5NH2

C6H5NC

9. Aniline doesn't react with

A. dil. HCl

B. dil. NaOH

C. 

D.  water

Answer: B

Watch Video Solution

CH3. CHO

Br2

https://dl.doubtnut.com/l/_PeDz4uYCCJj3
https://dl.doubtnut.com/l/_vsxbtcfnCmuZ
https://dl.doubtnut.com/l/_i2bRLDdeZH5q


10. Nitrobenzene on reduction with Hydrogen in presence of Nickel gives

A. Azobenzene

B. Hydrazobenzene

C. Phenyl hydroxyl amine

D. Aniline

Answer: D

Watch Video Solution

11. Aniline is soluble in

A. dil.HCl

B. dil.NaOH

C. Water

D.  solutionNa2CO3

https://dl.doubtnut.com/l/_i2bRLDdeZH5q
https://dl.doubtnut.com/l/_2sViZIqXhtvJ


Answer: A

Watch Video Solution

12. Aniline is treated with excess of . The �nal product is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3I

C6H5NHCH3

C6H5(CH3)2

C6H5(CH3)3I

C6H5I

13. The reagent which reacts with benzene nucleus in aniline is

A. CH3I

https://dl.doubtnut.com/l/_2sViZIqXhtvJ
https://dl.doubtnut.com/l/_EOnjsAVWAoQD
https://dl.doubtnut.com/l/_WqpcZMzhFjmG


B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H5COCl

CH3COCl

Br2

14. Which of the following is not a property of aniline

A. It is basic in nature

B. It gives carbylamine test

C. It can react with 3 moles of alkylhalide

D. It turns blue litmus red

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_WqpcZMzhFjmG
https://dl.doubtnut.com/l/_WBJa8IuBQVbq
https://dl.doubtnut.com/l/_RcR0mNMkXteC


15. Which of the following is a mixed  amine

A. Toludine

B. N-Methylaniline

C. Dimethylamine

D. Methyldiethyl amine

Answer: B

Watch Video Solution

2∘

16. The general formula of aliphatic amines is

A. 

B. 

C. 

D. 

CnH2n+ 1N

CnH2n+ 2N

CnH2n+ 3N

CnH2nN

https://dl.doubtnut.com/l/_RcR0mNMkXteC
https://dl.doubtnut.com/l/_4jemJsX83954


Answer: C

Watch Video Solution

17. The general formula of quaternary ammoniam salt is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

RNH2

R2NH

R3N

R4NX

18. Which of the following contains imino group 

A. Aniline

[
\

/NH]

https://dl.doubtnut.com/l/_4jemJsX83954
https://dl.doubtnut.com/l/_cNy9SxOTROyD
https://dl.doubtnut.com/l/_gyuMBwNwxu8m


B. O-Toludine

C. Benzylamine

D. N-methyl aniline

Answer: D

Watch Video Solution

19. The number of hydrogen atoms required to convert 1 mole of

nitrobenzene to hydrazobenzene is

A. 5

B. 10

C. 4

D. 8

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gyuMBwNwxu8m
https://dl.doubtnut.com/l/_xnQRHmxddcyH


20. Freshly prepared aniline is ?

A. Colourless

B. Brown

C. Yellow

D. Pale Yellow

Answer: A

Watch Video Solution

21. Which of the following is true

A. aniline forms salts with aqueous alkali

B. aniline is more basic than ammonia

C. aniline forms benzene diazonium chloride with nitric acid

D. aniline is less basic than ammonia

https://dl.doubtnut.com/l/_xnQRHmxddcyH
https://dl.doubtnut.com/l/_z9NXkbHCFMQn
https://dl.doubtnut.com/l/_xKDIEBRbFj2J


Answer: D

Watch Video Solution

22. Bromination of aniline with bromine water mainly gives

A. Red precipitate of 2, 4, 6 - tribromo aniline

B. o-and p-Bromom aniline

C. 2, 4-Dibromo aniline

D. White precipitate of 2, 4, 6-tribromo aniline

Answer: D

Watch Video Solution

23. Aniline forms anilinium salt when it reacts with

A. An alkyl halide'

https://dl.doubtnut.com/l/_xKDIEBRbFj2J
https://dl.doubtnut.com/l/_eL6X2ybIcJlp
https://dl.doubtnut.com/l/_ix1ZuT26EvH4


B. Acetyl chloride

C. Sulphuric acid

D. Benzoyl chloride

Answer: A

Watch Video Solution

24. The amine that does not form hydrogen bonds is

A. Isopropyl amine

B. Neopentyl amine

C. Tertiary butyl amine

D. N, N-Dimethylaminoethane

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ix1ZuT26EvH4
https://dl.doubtnut.com/l/_9KENlJHECDLZ
https://dl.doubtnut.com/l/_LIQIaG5F3tSu


25. The number of primary, secondary and tertiary amine isomers possible

for the compound with formula  are 

A. 4, 3, 1

B. 4, 3, 2

C. 3, 2, 1

D. 4, 2, 1

Answer: A

Watch Video Solution

C4H11N

26. In the diazotisation of aniline, the reagent or reagents used

A. 

B.  at 

C.  at 

D.  only

HNO3, HCl

NaNO2, HCl 0 − 5∘C

NaNO2, HNO2 0 − 5∘C

HNO3

https://dl.doubtnut.com/l/_LIQIaG5F3tSu
https://dl.doubtnut.com/l/_PVRvOXVSDnQx


Answer: B

Watch Video Solution

27. In which case rate of Ho�mann degradation will be maximum

A. 

B. 

C. 

https://dl.doubtnut.com/l/_PVRvOXVSDnQx
https://dl.doubtnut.com/l/_fvuqZgWcKo01


Level I Exercise I Diazonium Salts Introduction Preparation Methods

D. 

Answer: B

Watch Video Solution

1. In benszene diazonium chloride, the functional group is

A. 

B. 

C. 

D. 

Answer: D

−N = N = Cl

−N = N + − Cl−

−N + = N − Cl−

−
+
N ≡

. .
N

https://dl.doubtnut.com/l/_fvuqZgWcKo01
https://dl.doubtnut.com/l/_HPfAwhQ2Of2E


Watch Video Solution

2. Diazonium salts are formed by

A. aliphatic primary amines

B. aromatic primary amines

C. alicyclic primary amines

D. heterocycli aromatic nitrogen compounds

Answer: B

Watch Video Solution

3. Diazotisation means the conversion of

A. any primary amine into diazonium salt using  at ice

cold temperature

NaNO2 + HCl

https://dl.doubtnut.com/l/_HPfAwhQ2Of2E
https://dl.doubtnut.com/l/_DGsS06Tqn8fd
https://dl.doubtnut.com/l/_As41zZ8Lw2t4


B. aromatic primary amine into diazonium salt using 

at 

C. aromatic primary amine into diazonium salt using 

at ice cold temperature

D. any primary amine into diazonium saltt using  at

ice cold temperature

Answer: C

Watch Video Solution

NaNO2 + HCl

60 − 700C

NaNO2 + HCl

NaNO3 + HCl

4. Aniline can be converted into Benzene by

A. diazotization

B. diazotization followed by treating with 

C. treating with 

D. diazotization followed by treating with steam

H3PO2

H3PO2

https://dl.doubtnut.com/l/_As41zZ8Lw2t4
https://dl.doubtnut.com/l/_nrtlmWqtDHGI


Level I Exercise I Diazonium Salts Properties Applications

Answer: B

Watch Video Solution

5. Which of the following does not give diazonium salt with nitrous acid

at 273K ?

A. Benzenamine

B. Benzyl amine

C. p-hydroxy aniline

D. o-hydroxy aniline

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_nrtlmWqtDHGI
https://dl.doubtnut.com/l/_eNRYooBDKWkz


1. Which diazonium salt is stable at room temperature

A. Benzene diazonium chloride

B. Benzene diazonium �uoroborate

C. Benzene diazonium nitrate

D. Benzene diazonium bromide

Answer: B

Watch Video Solution

2. Conversion of benzen diazonium salt into chlorobenzne in presence of

 is called

A. Azocoupling reaction

B. Snadmeyer reaction

C. Gattermann reaction

D. Shiemann reaction

Cu2Cl2

https://dl.doubtnut.com/l/_5q7rdE5rLe5L
https://dl.doubtnut.com/l/_pmCLeLb4wR5i


Answer: B

Watch Video Solution

3. Action of HCl on Benzene diazonium chloride in the presence of copper

powder gives

A. p-chloro benzene diazonium chloride

B. o-chloro benzene diazonium chloride

C. Chloro benzene

D. 0-dichloro benzene

Answer: C

Watch Video Solution

4. One mole benzene diazonium chloride is treated with HBr(excess) in

the presence of CuBr. Now, volume of  liberated at STP weighsN2

https://dl.doubtnut.com/l/_pmCLeLb4wR5i
https://dl.doubtnut.com/l/_WEC1eRpEhc82
https://dl.doubtnut.com/l/_iUv99vnOsTo6


A. 11.2 lit.

B. 22.4 lit.

C. 5.6 lit.

D. 44.8 lit.

Answer: B

Watch Video Solution

5. Action of KI on Benzene diazonium chloride yields

A. sym triiodobenzene

B. p-diiodobenzene

C. o-di iodobenzene

D. iodobenzene

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_iUv99vnOsTo6
https://dl.doubtnut.com/l/_YHex41wJofbF


Level I Exercise Ii

6. Benzene diazonium �uoro borate on heating to dryness yields

A. Fluorobenzene

B. Benzene

C. Aniline

D. o-�uoroaniline

Answer: A

Watch Video Solution

1. Nitrobenzene  Hydrazobenzene. Here the reagent is

A. 

B. 

→

Sn + HCl

Zn + NH4Cl

https://dl.doubtnut.com/l/_YHex41wJofbF
https://dl.doubtnut.com/l/_lvc0ua8Jdjdn
https://dl.doubtnut.com/l/_qM1MyUNklgCa


C. 

D. 

Answer: C

Watch Video Solution

Zn + Aq. NaOH

LiAlH4

2. In the reaction 

  

The equivalent weight of Nitrobenzene is

A. M

B. 

C. 

M

2

M

4

https://dl.doubtnut.com/l/_qM1MyUNklgCa
https://dl.doubtnut.com/l/_Hj948gbdlqG0


D. 

Answer: D

Watch Video Solution

M

6

3.  and  are a pair of

A. Chain isomers

B. Metamers

C. Functional isomers

D. Tautomers

Answer: C

Watch Video Solution

R −

O

∣ ∣

N → O R − O − N = O

https://dl.doubtnut.com/l/_Hj948gbdlqG0
https://dl.doubtnut.com/l/_4y2LK0WjyFIj


4.   

Here the reagent is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Zn + NH4Cl

Zn + NaOH

Sn + HCl

LiAlH4

https://dl.doubtnut.com/l/_hT4f9Fvw9qFG


5.   

The ratio of the number of hydrogen atoms required to get 1 mole of

azobenzene and 1 mole of hydrazobenzene

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4: 5

5: 4

1: 1

2: 3

https://dl.doubtnut.com/l/_cXWiTey4mjFv


6.   

the main product of the reaction

A. Nitrobenzene

B. o- dinitrobenzene

C. m-dinitrobenzene

D. p-dinitrobenzene

Answer: C

Watch Video Solution

7. Which of the following staements is wrong 

i) Shape of a aliphatie amines is pyrmidal 

ii) All amines are Bronsted bases 

https://dl.doubtnut.com/l/_JAQH6CmEW1eA
https://dl.doubtnut.com/l/_LwddtbgebO7F


Level I Exercise Ii Amines General

iii) All primary amines exhibit functional isomerism 

iv) All tertiary amines shows functional isomerism

A. i, ii, iii, iv

B. i & ii

C. i only

D. iii only

Answer: D

Watch Video Solution

1. N,N-dimethyl butanamine-2 contains

A. six  hybridised carbon atoms

B. seven  hybridised atoms

sp3

sp3

https://dl.doubtnut.com/l/_LwddtbgebO7F
https://dl.doubtnut.com/l/_OzPJN9bNhVOI


C. two  hybridised nitrogen atoms

D. 1 and 2 are correct

Answer: A

Watch Video Solution

sp3

2. Primary amino group is absent in

A. p-amino phenol

B. o-amino phenol

C. N-methyl ethanamine

D. phenyl amine

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OzPJN9bNhVOI
https://dl.doubtnut.com/l/_eKDkh1EYmRJr


3. N, N-dimethyl butanamine -2 is the functional isomer of

A. N-butanamine -2

B. N-methyl-2-ethyl butanamine-2

C. trimethyl amine

D. triethyl amine

Answer: D

Watch Video Solution

4. n-butyl amine and isobutyl amine are --- isomers

A. optical

B. functional

C. chain

D. positional

https://dl.doubtnut.com/l/_xR5xU2z2WIvd
https://dl.doubtnut.com/l/_8AQcGlhC7dK6


Level I Exercise Ii Aniline

Answer: C

Watch Video Solution

5. How many primary amine structural isomers are possible with the

molecular formula .

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

C4H11N

https://dl.doubtnut.com/l/_8AQcGlhC7dK6
https://dl.doubtnut.com/l/_lMKEL0AJqniC


1.   

can react with a maximum of ........... moles of 

A. 4

B. 3

C. 2

D. 1

Answer: C

CH3I

https://dl.doubtnut.com/l/_7tH8z726XGrm


Watch Video Solution

2. In the nitration of aniline the amino group is protected by conversion

into

A. Tribromo derivative

B. Isocyanide

C. Diazonium salt

D. Acetyl derivative

Answer: D

Watch Video Solution

3. In the preparation of N-phenyl benzene sulphonamide from aniline, the

reagent used is

A. H2SO4

https://dl.doubtnut.com/l/_7tH8z726XGrm
https://dl.doubtnut.com/l/_TXRACQcm4lzo
https://dl.doubtnut.com/l/_kUFvu5EP6Hf3


B. 

C. 

D. 

Answer: D

Watch Video Solution

SOCI2

C6H5Cl

C6H5SO2Cl

4. Which of the following is correct with respect to the order of basic

natures of di�erent amines given below ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H5NH2 > NH3 > CH3NH2 > (CH3)2NH

(CH3)2NH > CH3NH2 > C6H5NH2 > NH3

CH3NH2 > (CH3)2NH > C6H5NH2 > NH3

(CH3)2NH > CH3NH2 > NH3 > C6H5NH2

https://dl.doubtnut.com/l/_kUFvu5EP6Hf3
https://dl.doubtnut.com/l/_EyfVr7u0SQsh


Level I Exercise Ii Diazonium Salts

5. Which of the following methods is used to prepare aniline on large

scale ? 

A)   

B)  

C)   

D) 

A. A only

B. B or C

C. C only

D. A or D

Answer: A

Watch Video Solution

C6H5NO2 + 6(H)
Fe /H3O

+

−−−−−→ C6H5NH2 + 2H2O

C6H5NO2 + 6(H)
Sn/HCl
−−−−→ C6H5NH2 + 2H2O

C6H5OH2 + NH3
ZnCl2
−−−→
3000C

C6H5NH2 + H2O

C6H5Cl + 2NH3
Cu2O.2000C
−−−−−−→ C6H5NH2 + NH4Cl

https://dl.doubtnut.com/l/_EyfVr7u0SQsh
https://dl.doubtnut.com/l/_NJFJXiNEGUPh
https://dl.doubtnut.com/l/_AJr27oe9SfzG


1. Benzene diazonium chloride on reaction with KCN in the presence of

CuCN yields X. X on hydrolysis yields Y. Y can also be obatained from 

A. Toluene by the action of 

B. Toluene by oxidation by 

C. Toluene by nitration

D. Toluene by sulphonation

Answer: B

Watch Video Solution

Cl2 /FeCl3

KMnO4

2. Ar.  where regarding X, correct

statement is

A. dissolves in NaOH solution

B. it liberates  with Na

C. it is stronger acid than acetic acid

N2Cl
dil .H2SO4
−−−−−→ X + N2 + HCl

H2

https://dl.doubtnut.com/l/_AJr27oe9SfzG
https://dl.doubtnut.com/l/_X2L9Db5vmPiT


D. 1 and 2

Answer: D

Watch Video Solution

3. During diazo coupling, the following group is retained

A. 

B. 

C. 

D. NHR

Answer: A

Watch Video Solution

−N = N −

−N ≡ N −

NH2

4. Which of the following is an example of electrophilic substitution?

https://dl.doubtnut.com/l/_X2L9Db5vmPiT
https://dl.doubtnut.com/l/_hAhyxpbxnxNl
https://dl.doubtnut.com/l/_yjaoEOMEAyFr


A. diazotisation

B. Sandmayer reaction

C. diazo coupling

D. action of KCN on 

Answer: C

Watch Video Solution

ArN2Cl

5. Which of the following is the correct order of ease of coupling with

?  

A) Benzene 

B) Nitro benzene 

C) Phenol D) Chloro benzene

A. 

B. 

C. 

C6H5N2CI

A > D > B > C

C > A > B > D

C > A > D > B

https://dl.doubtnut.com/l/_yjaoEOMEAyFr
https://dl.doubtnut.com/l/_3b4t0U6XFuMO


D. 

Answer: C

Watch Video Solution

B > D > A > C

6. Benzenediazonium salt on reaction with phenol gives

A. p-hydroxyazobenzene

B. o-hydroxyazobenzene

C. m-hydroxyazobenzene

D. p-aminoazobenzene

Answer: A

Watch Video Solution

7. N,N-dimethyl aniline on coupling with  yieldsC6H5N2Cl

https://dl.doubtnut.com/l/_3b4t0U6XFuMO
https://dl.doubtnut.com/l/_xCPXfl0oCb4j
https://dl.doubtnut.com/l/_3mYZjMDesMoO


Level Ii Lecture Sheet Exercise I Nitrocompounds Preparation

A. 4-(N,N-dimethyl) amino azo benzene

B. 4-(N,N-dimethyl) nitroso benzene

C. 4-(N,N-dimethyl) amino azoxy benzene

D. 4-(N,N-dimethyl) amino hydrazo benzene

Answer: A

Watch Video Solution

1. The compound which on reaction with aqueous nitrous acid at low

temperature produces an oil nitrosoamine is

A. Methylamine

B. Ethylamine

C. Diethylamine

D. Triethylamine

https://dl.doubtnut.com/l/_3mYZjMDesMoO
https://dl.doubtnut.com/l/_Jbe2A2Ufa7Tu


Answer: C

Watch Video Solution

2.  can be obtained by

A.  reaction with 

B.  reaction with  in presence orf NaOH

C.  reaction with 

D.  reacts with 

Answer: B::C

Watch Video Solution

CCl3 − NO2

CH3 − NO2 PCl5

CH3 − NO2 Cl2

CHCl3 HNO3

CH3COOH HNO3

3. The compounds (s) that can be obtained by vapour phase nitration of

propane is

https://dl.doubtnut.com/l/_Jbe2A2Ufa7Tu
https://dl.doubtnut.com/l/_IX9eZHs11jSA
https://dl.doubtnut.com/l/_ifXS4GNKqD4k


Level Ii Lecture Sheet Exercise I Nitrocompounds Properties

A. 2-Nitropropane

B. 1-Nitropropane

C. Nitroethane

D. Nitromethane

Answer: A::B::C::D

Watch Video Solution

1. Which of the following compounds cannot be used as solvent in

Friedel-Crafts reaction ?

A. Nitrobenzene

B. o - dinitrobenzene

C. Cyanobenzene

D. Toluene

https://dl.doubtnut.com/l/_ifXS4GNKqD4k
https://dl.doubtnut.com/l/_jkVlKEivzt9o


Answer: D

Watch Video Solution

2. Azobenzene can be obtained by reducing nitrobenzene with

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Sn + HCl

Fe + HCl

NH4Cl

LiAlH4

3. Which of the following give (s) aniline by reduction of nitrobenzene?

A. H2 /Ni

https://dl.doubtnut.com/l/_jkVlKEivzt9o
https://dl.doubtnut.com/l/_T1xsgDG2RazP
https://dl.doubtnut.com/l/_z6naYkPFCCXa


B. Sn/HCI

C. Zn & NaOH

D. 

Answer: A::B

Watch Video Solution

LiAlH4

4.   

 The compound 'C' in the above
Sn−HCl
−−−−−→ A

NaNO2 −HCl
−−−−−−−−→

0 − 5 ∘C
B

Cu2Cl2 /KCl

−−−−−−−→ C

https://dl.doubtnut.com/l/_z6naYkPFCCXa
https://dl.doubtnut.com/l/_v7u0PJCwdwHm


sequence is

A. 

B. 

C. 

D. 

Answer: C

h id l i

https://dl.doubtnut.com/l/_v7u0PJCwdwHm


Watch Video Solution

5. Hydrazobenzene can be obtained by reducing nitrobenzene with

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Sn + HCI

Fe + HCI

Zn + NH4Cl

Zn + NaOH

6. Which of the following give (s) chloropicrin on chlorination?

A. 

B. 

CH3 − NO2

CH3 − CH2 − NO2

https://dl.doubtnut.com/l/_v7u0PJCwdwHm
https://dl.doubtnut.com/l/_M5sYJpOTQqsH
https://dl.doubtnut.com/l/_RWzTNh0X3aGg


C. 

D. 

Answer: A

Watch Video Solution

CH3CH2CH2NO2

https://dl.doubtnut.com/l/_RWzTNh0X3aGg


7.   

 THe compound ‘B' is

A. 

B. 

O + H2NOH → A
H +

−−→ B

https://dl.doubtnut.com/l/_uehbyKWCTDs9


C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_uehbyKWCTDs9


8.   

. The compound ‘C' is

A. 

B. 

C − COOH
NH3 .Heat
−−−−−−→ A

Br2 +KOH
−−−−−−→ B

HONO
−−−→ C

https://dl.doubtnut.com/l/_MqMqJqsCCreh


C. 

D. 

Answer: D

Watch Video Solution

9.  gives

A. 

https://dl.doubtnut.com/l/_MqMqJqsCCreh
https://dl.doubtnut.com/l/_ngExn5iXUnBw


B. 

C. 

D. 

Answer: C

Watch Video Solution

10. . What is (A)

A. 

B. 

H3CNH2

(CH2 ) 2O

−−−−−→ (A)

H3C − NH − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_ngExn5iXUnBw
https://dl.doubtnut.com/l/_GdfdrjhNIVE1


C. 

D. 

Answer: B

Watch Video Solution

H3C − NH − CH2 − O − OH

11. Which of the following is soluble in NaOH?

A. Aniline

B. 

C. 

D. 

Answer: B::C

CH3 − CH2 − NO2

https://dl.doubtnut.com/l/_GdfdrjhNIVE1
https://dl.doubtnut.com/l/_F63XOSu12YF3


Watch Video Solution

12. Which of the following will not give Ho�mann bromamide reaction

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H3C −

O

∣ ∣

C − NH2

Ph −

O

∣ ∣

C − NH2

H3C −

O

∣ ∣

C − NH − Br

Ph −

O

∣ ∣

C − NH − Ph

https://dl.doubtnut.com/l/_F63XOSu12YF3
https://dl.doubtnut.com/l/_uUZ894ejvn1x


13. In a set of reactions p- nitrotoluene yielded a produce E 

 

The product E would be

A. 

B. 

C. 

https://dl.doubtnut.com/l/_gZrSYGDtJK1M


Level Ii Lecture Sheet Exercise I Amines Preparation

D. 

Answer: B

Watch Video Solution

1. Acetamide is treated separately with the following reagents. Which one

of these would give methylamine ?

A. 

B. Sodalime

C. 

D. hot concentrated 

PCI5

NaOH + Br2

H2SO4

https://dl.doubtnut.com/l/_gZrSYGDtJK1M
https://dl.doubtnut.com/l/_2H7mvaAlVYBG


Answer: C

Watch Video Solution

2. Reaction of  with a mixture of  and KOH gives  as

the main product. The intermediates involved in the reaction are

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

RCONH2 Br2 RNH2

R −

O

∣ ∣

C − NHBr

R − NHBr

R − N = C = O

3. Arenium ion involved in the bromination of aniline is /are

https://dl.doubtnut.com/l/_2H7mvaAlVYBG
https://dl.doubtnut.com/l/_rg2XmKq0xHou
https://dl.doubtnut.com/l/_ibsWpS4mWjJK


A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

https://dl.doubtnut.com/l/_ibsWpS4mWjJK


Level Ii Lecture Sheet Exercise I Basic Strength Of Amines

1. Amongst the following, the most basic compound is

A. Benzylamine

B. Aniline

C. Acetanilide

D. p-Nitroaniline

Answer: A

Watch Video Solution

2. Which of the following order is correct regarding the relative basicity

of amines?

A. 

B. 

https://dl.doubtnut.com/l/_JikeA3R8tTYu
https://dl.doubtnut.com/l/_sgECZAQlrLoj


C. 

D. 

Answer: A

Watch Video Solution

3. Activation of benzene ring by-  in aniline can be decreased by

treating with

A. Dilute HCI

B. Ethyl alcohol

C. Acetic acid

D. Acetyl chloride

Answer: D

Watch Video Solution

NH2

https://dl.doubtnut.com/l/_sgECZAQlrLoj
https://dl.doubtnut.com/l/_LIoK95Slm7tT
https://dl.doubtnut.com/l/_NVko3cN4m9PT


4. Which of the following orders is correct regarding the basic strength

of substituted aniline ?

A. p-nitroaniline  p-aminobenzaldehyde  p-bromoaniline

B. p-nitroaniline  p-bromoaniline  p- aminobenzaldehyde

C. p- Nitroaniline  p - aminobenzaldehyde  p - bromoaniline

D. p - Nitroaniline  p - aminobenzaldehyde  p - bromoaniline

Answer: C

Watch Video Solution

> >

< <

< <

> >

5. Which of the following orders regarding the basic strength of

substituted aniline is correct ?

A. p-methylaniline  p-chloroaniline  p- aminoacetophenone

B. p-methylaniline p- aminoacetophenone  p- chloroaniline

C. p-aminoacetophenone  p-methylaniline  p - chloroaniline

> >

>

> >

https://dl.doubtnut.com/l/_NVko3cN4m9PT
https://dl.doubtnut.com/l/_lP8EGo2CcjjO


D. p-aminoacetophenone  p-chloroaniline  p- methylaniline

Answer: A

Watch Video Solution

> >

6. In the following compounds 

 the order of

basicity is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

IV > I > II > II

III > I > IV > II

II > I > III > IV

I > III > II > IV

https://dl.doubtnut.com/l/_lP8EGo2CcjjO
https://dl.doubtnut.com/l/_ZPyFivreeOjF


Level Ii Lecture Sheet Exercise I Amines Properties

7. Among the following, the strongest base is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H5NH2

P − NO2C6H4NH2

m– NO2C6H4NH2

C6H5CH2NH2

1. Carbylamine test is performed in alcoholic KOH by heating a mixture of

A. Chloroform and silver powder

B. Trichloro methane and a primary amine

C. An alkyl halide and a primary amine.

https://dl.doubtnut.com/l/_5KcFUqLJTkRy
https://dl.doubtnut.com/l/_VKpbNSqbuHto


D. An alkyl cyanide and a primary amine.

Answer: B

Watch Video Solution

2. Chlorobenzene can be prepared by reacting aniline with

A. Hydrochloric acid

B. Cuprous chloride

C. Chlorine in the presence of anhydrous aluminium chloride

D. Nitrous acid followed by heating with cuprous chloride.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_VKpbNSqbuHto
https://dl.doubtnut.com/l/_IE8uytDKvR8q


3. Which of following amines form N-nitroso derivative when treated with

 and HCI.

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

NaNO2

CH3NH2

4. Hinsberg's reagent is

A. Phenylisocyanide

https://dl.doubtnut.com/l/_HlhdZXmJLFwX
https://dl.doubtnut.com/l/_FCglEwRZEPRz


B. Benzenesulphonyl chloride

C. p-toluenesulphonic acid

D. o-dichlorobenzene

Answer: B

Watch Video Solution

5. Which of the following compounds will dissolve in an alkali solution

after it has undergone reaction with Hinsberg reagent?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(C2H5)2NH

CH3 − N
∣

CH3

− C6H5

CH3NH2

C6H5NHC6H5

https://dl.doubtnut.com/l/_FCglEwRZEPRz
https://dl.doubtnut.com/l/_gAI9tpF4u0L1


6. The bromination of aniline produces

A. 2- bromoaniline

B. 4-bromoaniline

C. 2, 4, 6-tribromoaniline

D. 2, 6-dibromoaniline

Answer: C

Watch Video Solution

7. Primary, secondary and tertiary amines can be separated by using

A. Diethyl ether

B. Hinsberg's reagent

C. Hofmann method

https://dl.doubtnut.com/l/_gAI9tpF4u0L1
https://dl.doubtnut.com/l/_O4qUBydcepWY
https://dl.doubtnut.com/l/_tdUeVp6ugdjl


D. Filterpaper

Answer: B::C

Watch Video Solution

8. Which of the following give (s) Schi�'s base with aldehydes ?

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

CH3 − CH2 − NH2

C6H5 − CH2 − NH2

C6H5 − NH2

C6H5 − NO2

https://dl.doubtnut.com/l/_tdUeVp6ugdjl
https://dl.doubtnut.com/l/_wdd3jF6bSc3b


9. Which of the following compounds give alcohol on reaction with

 and HCI

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

NaNO2

C6H5CH2NH2

CH3NHCH2CH3

CH3CH2CH2NH2

CH3CH2N(CH3)2

10. p- chloroaniline and aniline hydrochloride can be distinguished by

using

A. Carbylamine reaction

B. silver nitrate solution

C. Barium chloride solution

https://dl.doubtnut.com/l/_b5C7ZOKsYIMY
https://dl.doubtnut.com/l/_1RqM1ipatizR


D. Any of the above

Answer: B

Watch Video Solution

11. Complete the following reaction

A. 4-chloro - 2 - methylacetanilide

B. 3-chloro-2-methylacetanilide

C. 2-methylacetanilide

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1RqM1ipatizR
https://dl.doubtnut.com/l/_jyKpUNwnXz8I


12. The major product of the reaction 

  

 is

A. 

B. 

NaNO2 /H2SO4

−−−−−−−−−→

https://dl.doubtnut.com/l/_dCAuYjT2YNXY


C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dCAuYjT2YNXY


13. In the reaction shown below the major product(s) formed is/are 

  

 product(s)

A. 

acetic anhydide
−−−−−−−−→

CH2Cl2

https://dl.doubtnut.com/l/_yAmlhVclzloR


Level Ii Lecture Sheet Exercise I Cyanides And Isocynaides

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_yAmlhVclzloR


1.   

. The compound ‘B' is

A. 

CH3MgBr
−−−−−→ A

H3O
+

−−−→ B

https://dl.doubtnut.com/l/_ysmoMJeU0878


Level Ii Lecture Sheet Exercise I Benzene Diazonium Salts

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ysmoMJeU0878


1. On warming an aqueous solution of benzenediazonium chloride, the

product obtained is

A. Benzene

B. Aniline

C. Phenol

D. amide

Answer: C

Watch Video Solution

2. Benzenediazonium chloride on reaction with phenol in weakly basic

medium gives

A. Diphenyl ether

B. p- hydroxyazobenzene

C. Chlorobenzene

https://dl.doubtnut.com/l/_wYzwxAdNhib6
https://dl.doubtnut.com/l/_QJ6PAGxlG0EI


D. Benzene

Answer: B

Watch Video Solution

3. Compounds which do not give coupling reaction with

benzenediazonium chloride in acidic medium is/are

A. Phenol

B. Aniline

C. Nitrobenzene

D. Chlorobenzene

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QJ6PAGxlG0EI
https://dl.doubtnut.com/l/_eZ1eIRcRM1tq


4. Which of the following reagents can be used to convert

benzenediazonium chloride to benzene ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SnCl2 /HCl

CH3 − CH2 − OH

H2O

H3PO2

5. When aniline is treated with benzene diazonium chloride at low

temperature in weakly acidic medium the �nal product is

A. 

B. 

https://dl.doubtnut.com/l/_i6KuSvh5SrWg
https://dl.doubtnut.com/l/_itZ0pzeGSKmS


C. 

D. 

Answer: A

Watch Video Solution

6. The compounds soluble in water

A. Methyl amine

B. Acetone

C. Formic acid

D. 1-pentanol

Answer: A::B::C

Watch Video Solution

https://dl.doubtnut.com/l/_itZ0pzeGSKmS
https://dl.doubtnut.com/l/_daraJvqeM7TC


7. Reaction of m-dinitro benzene with  gives

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(NH4)2Sx

https://dl.doubtnut.com/l/_jTScb7W5buLr


8. Which of the following compounds will dissolve in alkali solution after

its reaction with Hinsberg reagent?

A. N - Methylethanamine

B. Diethylamine

C. N, N - Dimethyl aniline

D. Isopropylamine

Answer: D

Watch Video Solution

9. Which compound/s does not give stable diazotisation product

A. 

B. 

C. 

C6H5NH2

C6H5CH2NH2

https://dl.doubtnut.com/l/_qnmXUQ5EyAY6
https://dl.doubtnut.com/l/_Au41odhwUoJf


D. 

Answer: B

Watch Video Solution

10. The amine which liberate nitrogen on reaction with nitrous acid is

A. Isopropyl amine

B. N - Methyl aniline

C. Isobutyl amine

D. tert-butylamine

Answer: A::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_Au41odhwUoJf
https://dl.doubtnut.com/l/_gpZsJBhFIMe3


11. A)  Primary amine. The compound A) may be

A. Alkyl isocyanide

B. Alkyl cyanide

C. Acid amide

D. -nitroalkane

Answer: B::C::D

Watch Video Solution

Reduction
−−−−−→

[H ]

1∘

12. Consider the following comparisons of basic nature of di�erent

compound Identify correct comparision 

A. I

https://dl.doubtnut.com/l/_kHUgkUtBCZSv
https://dl.doubtnut.com/l/_0vqmnhfVVZs6


B. II

C. III

D. IV

Answer: A::B::C::D

Watch Video Solution

13. Which of the following aryl amines will not form a diazonium salt on

reaction with sodium nitrite in hydrochloric acid?

A. N, N-Dimethylaniline

B. p-Amino acetophenone

C. 4-Chloro-N-methyl aniline

D. N-Ethyl-2-methyl aniline

Answer: A::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_0vqmnhfVVZs6
https://dl.doubtnut.com/l/_hb45Oh52QU2x


14. For following given compounds identify correct statement(s) 

A. All are basic

B. III is more basic than II

C. IV is the most basic of all

D. II is the least basic of all

Answer: A::B::C::D

Watch Video Solution

15. In the given reaction sequence, 

CH3 −

CH3

∣

C
∣

CH3

− CH2CH2OH
K2Cr2O7 ,H2SO4

−−−−−−−−−→
H2O , Δ

(A)
SOCl2
−−−→ (B)

(CH3 ) 2NH

−−−−−−→
mole

(C)
1 .LiA
−−−−

2 .H

https://dl.doubtnut.com/l/_hb45Oh52QU2x
https://dl.doubtnut.com/l/_p2u3BkQcJNV6
https://dl.doubtnut.com/l/_Rqhzmwi6pZRa


A. Compound (B) is 

B. Compound (A) is 

C. Compound (C) is 

D. Compound (D) is 

Answer: A::C::D

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− CH2COCl

CH3 −

CH3

∣

C
∣

CH3

− CH2CHO

CH3 −

CH3

∣

C
∣

CH3

− CH2CON(CH3)2

CH3 −

CH3

∣

C
∣

CH3

− CH2CH2N(CH3)2

16. Reaction I :  Product  

Reaction II :  Product  

Products are   

A. The major product in reaction 1 is (X)

CH3CH2 − CH − CH3
+N (CH3 ) 3OH

−

heat
−−→

CH3CH2 − C
∣
Br

H − CH3
CH3ONa
−−−−−→

CH3 − CH = CH − CH3(X)

CH3CH2CH = CH2(Y )

https://dl.doubtnut.com/l/_Rqhzmwi6pZRa
https://dl.doubtnut.com/l/_IrDCawLXJMU4


B. The major product in reaction 1 is (Y)

C. The major product in reaction 2 is (X)

D. The major product in reaction 2 is (Y)

Answer: B::C

Watch Video Solution

17. Which compound yields an N-nitroso amine after treatment with

nitrous acid ?

A. 

B. 

C. 

D. 

Answer: C::D

(NaNO2 + HCl)

CH3CH2 − NH − CH3

https://dl.doubtnut.com/l/_IrDCawLXJMU4
https://dl.doubtnut.com/l/_r5FrhZdPK2zj


Watch Video Solution

18.   

Among these cations, the correct order of the indicated C-N bond

strength is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

III > I > II

II > III > I

I > II > III

II > I > III

19.  and  can be distinguished

by

PhCOCH2CH2NH2 PhNHCH2COCH3

https://dl.doubtnut.com/l/_r5FrhZdPK2zj
https://dl.doubtnut.com/l/_Rr5Za9hO4QWL
https://dl.doubtnut.com/l/_DBfaRauAM2Yo


A. Carbylamine test

B. Tollen's test

C. Hinsberg's test

D. Iodoform test

Answer: A::C::D

Watch Video Solution

20. Which of the following is a primary amine

A. 

B. 

C. 

D. 

Answer: A::B::C::D

W t h Vid S l ti

CH3CH2CH2NH2

CH3 − C
∣

NH2

H − CH3

(CH3)3C − NH2

CH3CH2 − C
∣

NH2

H − CH3

https://dl.doubtnut.com/l/_DBfaRauAM2Yo
https://dl.doubtnut.com/l/_b72n1Ile6hPq


Watch Video Solution

21. The type of hybridisation of nitrogen in aliphatic amines is

A. 

B. 

C. sp

D. Unhybridised

Answer: A

Watch Video Solution

sp3

sp2

22. The correct IUPAC name of  is

A. N, N - diethyl butylamine

B. N – Ethyl – N – methyl butylamine

C. N – Ethyl – N – methyl butanamine

C2H5 − N
∣

CH3

− CH2CH2CH3

https://dl.doubtnut.com/l/_b72n1Ile6hPq
https://dl.doubtnut.com/l/_LrOHnXx6Fraq
https://dl.doubtnut.com/l/_AY3tNe3Pw0Zw


D. N - Ethyl – N – methyl propan - 1 - amine

Answer: D

Watch Video Solution

23. Which of the following is an arylamine

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_AY3tNe3Pw0Zw
https://dl.doubtnut.com/l/_ZJ9gKNmRoGQG


Answer: A::C::D

Watch Video Solution

24. Which sequence of reactions is best suitable method for preparation

of in - chloroaniline from benzene

A. (i) nitration (ii)  (iii) 

B. (ii)  (ii) nitration (iii) 

C. (ii)  (ii)  & 

D. (ii) Nitration (ii) , hv (iii) 

Answer: A

Watch Video Solution

Cl2 /FeCl3 Sn + HCI

Cl2 /FeCl3 Sn + HCI

Cl2 /FeCl2 NH3 ZnCl2

Cl2 Sn + HCI

25. Which sequence of reactions is useful to prepare 1 – propanamine

https://dl.doubtnut.com/l/_ZJ9gKNmRoGQG
https://dl.doubtnut.com/l/_3KeZp4wYdYxf
https://dl.doubtnut.com/l/_1PtaGcts4fHU


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CH2CN
LiAlH4

−−−→

CH3CH2Cl
AgCN
−−−→

LiAlH4

−−−→

CH3Cl
KCN
−−→

LiAlH4

−−−→

CH3Cl
AgCN
−−−→

LiAlH4

−−−→

26. Which of the following reaction give primary amine

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CH2CONH2
LiAlH4

−−−→

CH3CH2NC
Na&C2H5OH
−−−−−−−−→

CH3CONHCH3
LiAlH4

−−−→

CH3CH2CN
H3O

+

−−−→

https://dl.doubtnut.com/l/_1PtaGcts4fHU
https://dl.doubtnut.com/l/_ONd83v9iM2QV


Level Ii Lecture Sheet Exercise Ii

1. Gabriel-Phthalimide reaction is useful for preparation of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2NH2

CH3CH2NHCH3

https://dl.doubtnut.com/l/_ONd83v9iM2QV
https://dl.doubtnut.com/l/_j1vwAbMWrIlJ


2. Which of the following species is not formed in Hofmann bromamide

reaction

A. R - CO NHBr

B. RCO  Br

C. RNCO

D. RCO 

Answer: D

Watch Video Solution

. .
N
Θ

. .
NΘ

3. Which of the following isomeric amines is likely to have higher boiling

point

A. 

B. 

C. 

CH3CH2CH2NH2

CH3CH2NHCH3

(CH3)3N

https://dl.doubtnut.com/l/_gmlTTtmijT5O
https://dl.doubtnut.com/l/_vAIsCmHMQQ0e


D. All have same B.P. as they are isomers

Answer: A

Watch Video Solution

4. In which of the following amines, intermolecular hydrogen bond does

not exist

A. 

B. 

C. 

D. 

Answer: C

CH3CH2CH2 − NH2

https://dl.doubtnut.com/l/_vAIsCmHMQQ0e
https://dl.doubtnut.com/l/_JYDUiWE5whpM


Watch Video Solution

5. Which of the following statements is correct

A.  is more soluble in water than 

B.  is more soluble in water than 

C.  and  both enter into hydrogen bond

with water

D. N possess more B.P. than 

Answer: A::C

Watch Video Solution

CH3CH2CH2NH2

CH3CH2NHCH3

(CH3)3N CH3CH2CH2NH2

(CH3)3N CH3CH2NHCH3

(CH3)3 CH3CH2NHCH3

6. Which of the following is likely to have higher boiling point

A. CH3CH2CH2NH2

https://dl.doubtnut.com/l/_JYDUiWE5whpM
https://dl.doubtnut.com/l/_EH9bSv9PZr28
https://dl.doubtnut.com/l/_OdcQchoXuB2u


B. 

C. 

D. 

Answer: A

Watch Video Solution

(C2H5)2NH

CH3CH2N(CH3)2

CH3CH2CH2NHCH3

7. Which of the following is highly basic in aqueous solution

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2CH2CH2NH2

CH3CH2NHCH2CH3

(CH3)4

+
N ¯̄̄OH

CH3CH2N(CH3)2

https://dl.doubtnut.com/l/_OdcQchoXuB2u
https://dl.doubtnut.com/l/_ykmp7s8r3Yr7
https://dl.doubtnut.com/l/_sfiaEBHioFgh


8. Aniline on reaction with acetic anhydride to give

A. Acctanilidc

B. N-phenylmethanamide

C. Phenyl acetamide

D. Methylacetamide

Answer: A::C

Watch Video Solution

9. Which of the following amines react with  to give

yellow oily liquid product(s)

A. 

B. 

C. 

D. 

NaNO2 + HCl

C6H5NHCH3

CH3CH2NHCH2CH3

C6H5N(CH3)2

C6H5NH2

https://dl.doubtnut.com/l/_sfiaEBHioFgh
https://dl.doubtnut.com/l/_X4KI7a0CwHT0


Answer: A::B

Watch Video Solution

10. In Gattermann reaction for preparation of chlorobenzene from

diazonium salt, the catalyst used is

A. 

B. Cu

C. 

D. 

Answer: B

Watch Video Solution

CuCl2

Cu2O

CuSO4

https://dl.doubtnut.com/l/_X4KI7a0CwHT0
https://dl.doubtnut.com/l/_J6iJFVlnDVhi


11.   

The product of the reaction is

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_606mOv6v8wnJ


Answer: C

Watch Video Solution

12. Complete reduction of benzene-diazonium chloride with Zn/HCl gives :

A. Aniline

B. Phenylhydrazine

C. Azobenzene

D. Hydrazobenzene

Answer: A

Watch Video Solution

13. p-aminobenzoic acid reacts with bromine and  to giveH2O

https://dl.doubtnut.com/l/_606mOv6v8wnJ
https://dl.doubtnut.com/l/_QJ4f2jMD4ixP
https://dl.doubtnut.com/l/_NQlNDWsDNA6L


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NQlNDWsDNA6L


14. Hofmann bromamide reaction involves the conversion of amides into

amines. Which of the following undergo at fastest rate under identical

conditions

A. 

B. 

C. 

https://dl.doubtnut.com/l/_NQlNDWsDNA6L
https://dl.doubtnut.com/l/_METt5pzeG7kK


D. 

Answer: D

Watch Video Solution

15. In which of the following reactions 1-bromopentane is converted into l-

aminopentane only

A. Treatment with ammonia followed by NaOH

B. Treatment with potassium phthalimide followed by hydrolysis

C. Reaction with KCN followed by reduction with 

D. Reaction with acetylchloride followed by reduction with 

Answer: B

Watch Video Solution

LiA
I

H4

LiA
I

H4

https://dl.doubtnut.com/l/_METt5pzeG7kK
https://dl.doubtnut.com/l/_jmV5L9Xf76JB


16. Which of the following is aromatic

A. 

B. 

C. 

https://dl.doubtnut.com/l/_jmV5L9Xf76JB
https://dl.doubtnut.com/l/_FTg1uq1K5Hq4


D. 

Answer: A::B::D

Watch Video Solution

17. Which of the statements is wrong

A. All primary amines are basic

B. Aliphatic amines are more basic than ammonia

C. Aliphatic amines are less hasic than aromatic amines

D. All aromatic amines are basic

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_FTg1uq1K5Hq4
https://dl.doubtnut.com/l/_mwHdHBgNKVUl


18.   

A in the above sequence is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_i1vQoo8MROPe
https://dl.doubtnut.com/l/_7P7oI3eOB6qi


19. Anisidines are the compounds containing benzene ring in which

A.  &  are present

B.  &  are present

C.  &  are present

D.  &  are present

Answer: D

Watch Video Solution

−CH3 −NH2

−CH3 −OCH3

−OCH3 NO2

−OCH3 −NH2

20. A chloroform solution of aniline is heated with KOH. Which of the

following is right.

A. Chloroform hydrolysed to give formic acid

B. Aniline reacts with chloroform to give cyanides

C. A secondary amine is obtained

D. Foul smelling compound is obtained

https://dl.doubtnut.com/l/_7P7oI3eOB6qi
https://dl.doubtnut.com/l/_3JyNMQV3cp49


Answer: D

Watch Video Solution

21. N, N - dimethyl benzamide cannot be prepared by

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H5COOC2H5 + (CH3)2NH →

C6H5COCl + (CH3)2NH →

C6H5COO. COC6H5 + (CH3)2NH

C6H5CONH2 + CH3MgCl

22. Which of the following statements is correct

A. Methyl amine is more basic than aniline

https://dl.doubtnut.com/l/_3JyNMQV3cp49
https://dl.doubtnut.com/l/_lkEWa1u9A0cz
https://dl.doubtnut.com/l/_i309YV2BMYci


B. Aniline is more basic than ammonia

C. Ammonia is more basic than aliphatic amines

D. Aromatic amines have almost same basic nature as aliphatic amines

Answer: A

Watch Video Solution

23. Which of the following statements is wrong

A. All amines are considered as Lewis bases

B. All primary amines exhibit functional isomerism

C. All secondary amines exhibit functional isomerism

D. All tertiary amines exhibit functional isomerisms

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_i309YV2BMYci
https://dl.doubtnut.com/l/_Rp2GqCjXMlfS
https://dl.doubtnut.com/l/_Czlj02GFp9mx


24. Which statement about the reaction of 1-bromobutane and  is

correct?

A. The reaction initially gives a primary amine

B. The reaction speci�cally gives a primary amine

C. The reaction is a nucleophilic substitution

D. The reaction may lead to the formation of a quaternary ammonium

salt.

Answer: A::C::D

Watch Video Solution

NH3

25. In which reaction is a quaternary ammonium salt is not formed?

A. Reaction of  with excess Mel.

B. Reaction of  with EtCl.

C. Reaction of  with n-BuBr

EtNH2

EtNH2

EtNH2

https://dl.doubtnut.com/l/_Czlj02GFp9mx
https://dl.doubtnut.com/l/_ILSotz6OcQbb


D. Reaction of  with MeCOCI.

Answer: D

Watch Video Solution

EtNH2

26. Which statement is incorrect about the reaction of EtCOCI ( an acyl

chloride) with  ?

A. The product is an amide which can be reduced to a tertiary amine

B. The product is EtCONHEt

C. HCl is eliminated

D. It is a nucleoophilic displacement reaction

Answer: A

Watch Video Solution

EtNH2

https://dl.doubtnut.com/l/_ILSotz6OcQbb
https://dl.doubtnut.com/l/_R5hAWlJIAb7d


27. Which of the following reagents would be best for converting

 to 

A.  in ether

B. (i)  & heat, (ii)  in ether

C.  & Pt. catalyst

D. Aqueous NaOBr

Answer: D

Watch Video Solution

C6H5CONH2 C6H5CH2NH2

LiAlH4

P2O5 LiAIH4

H2

28. Which of the following is N,N-dimethylaniline?

A. 

https://dl.doubtnut.com/l/_4QgA3ESyae1q
https://dl.doubtnut.com/l/_QlaFozEdGASM


B. 

C. 

D. 

Answer: D

Watch Video Solution

29. Which of the following statements is (are) correct

A. C – N bond length in  is more than that in 

B. Cyanides on partial hydrolysis give amides

CH3 − NH2

C6H5 − NH2

https://dl.doubtnut.com/l/_QlaFozEdGASM
https://dl.doubtnut.com/l/_fDItxGhYUOA5


C.  is converted into  by using 

D. Alkyl isocyanides on reduction with  give secondary amines

Answer: A::B::C::D

Watch Video Solution

CH3CH2CONH2 CH3CH2NH2

NaOH + Br2

LiAlH4

30. Which of the following is the strongest Bronsted acid ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_fDItxGhYUOA5
https://dl.doubtnut.com/l/_PwgfBcZbvMDJ


D. 

Answer: A

Watch Video Solution

31. Which of the following is the weakest Bronsted base ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_PwgfBcZbvMDJ
https://dl.doubtnut.com/l/_o0M84YIo3Gil


D. 

Answer: C

Watch Video Solution

32. Which compound is the likely product from reaction of pyrrolidine

with excess methyl iodide (equation below)? 

A. 

B. 

https://dl.doubtnut.com/l/_o0M84YIo3Gil
https://dl.doubtnut.com/l/_1okmLhWHwJD8


C. 

D. 

Answer: B

Watch Video Solution

33. For the following compounds, which is the strongest base and which

the strongest acid ? 

A. II = strongest base, I = strongest acid

B. IV = strongest base, III = strongest acid

C. III = strongest base, IV = strongest acid

https://dl.doubtnut.com/l/_1okmLhWHwJD8
https://dl.doubtnut.com/l/_v0Nvr9LYkqXK


D. II = strongest base, III = strongest acid

Answer: C

Watch Video Solution

34. Which of the following is the strongest base

A. 

B. 

C. 

https://dl.doubtnut.com/l/_v0Nvr9LYkqXK
https://dl.doubtnut.com/l/_Fu9mk8btzoYG


D. 

Answer: D

Watch Video Solution

35. Which ofthe following does not react with Hinsberg's reagent

A. 

B. 

C. 

D. 

(C6H5SO2Cl)

CH3CH2NHCH3

https://dl.doubtnut.com/l/_Fu9mk8btzoYG
https://dl.doubtnut.com/l/_RToz8PYB29je


Answer: D

Watch Video Solution

36. Which of the following amines reacts most rapidly with para-

nitrophenylacetate, ?

A. para-Methoxyaniline,.

B. para-Nitroaniline, 

C. Aniline, .

D. Cyclopentylamine, .

Answer: D

Watch Video Solution

p − NO2C6H4OCOCH3

p − CH3OC6H4NH2

p − NO2C6H4NH2

C6H5NH2

C5H9NH2

37. Acetyl chloride reacts with aniline a product which on reduction with

 giveLiAlH4

https://dl.doubtnut.com/l/_RToz8PYB29je
https://dl.doubtnut.com/l/_lZEAYwgXp1ey
https://dl.doubtnut.com/l/_cR2YPZdnJGAo


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

38. Aniline reacts with benzoyl chloride to give a product. The reaction is

known as

A. Schmidt reaction

B. Schotten – Baumann reaction

C. Sandmeyer reaction

D. Hofmann reaction

https://dl.doubtnut.com/l/_cR2YPZdnJGAo
https://dl.doubtnut.com/l/_wUnc42oQBbU7


Answer: B

Watch Video Solution

39.  is

A. N-Ethylethanamide

B. Hexanamide

C. N-Propylpropanamide

D. N-Ethylhexanamide

Answer: C

Watch Video Solution

CH3CH2C(O)NHCH2CH2CH3

40. Which of the following amines is the strongest base ?

https://dl.doubtnut.com/l/_wUnc42oQBbU7
https://dl.doubtnut.com/l/_cT4u5buX2IO2
https://dl.doubtnut.com/l/_FFDyfueziAk2


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

41. Which of the following compounds is the strongest acid ?

https://dl.doubtnut.com/l/_FFDyfueziAk2
https://dl.doubtnut.com/l/_DCW7Woqkdv2i


A. 

B. 

C. 

https://dl.doubtnut.com/l/_DCW7Woqkdv2i


D. 

Answer: D

Watch Video Solution

42. A  compound gives a base soluble derivative on reaction with

Hinsberg test. Which of the following �ts these facts best?

A. 1,1-Dimethylpropylamine

B. Isopropyldimethylamine

C. 2,2-Dimethylpropylamine

D. N-Methyl-2-methylpropylamine

Answer: C

C5H13N

https://dl.doubtnut.com/l/_DCW7Woqkdv2i
https://dl.doubtnut.com/l/_JYknSzskvAJG


Watch Video Solution

43. Which of the following contains most basic nitrogen

A. 

B. 

C. 

https://dl.doubtnut.com/l/_JYknSzskvAJG
https://dl.doubtnut.com/l/_RMG7afvljsKP


D. 

Answer: D

Watch Video Solution

44. Ca�eine is found in tea leaves. It contains four nitrogens. Correct

sequence of basic strength of these nitrogens is : 

https://dl.doubtnut.com/l/_RMG7afvljsKP
https://dl.doubtnut.com/l/_lWUk6myornoY


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 > 2 > 3 > 4

2 > 1 > 3 > 4

1 > 4 > 3 > 2

1 > 3 > 4 > 2

45. Which of the following reagents and conditions would be best for the

preparation of cyclohexylamine?

A. Cyclohexanone 

B. Cyclohexylbromide 

C. Cyclohexylbromide 

D. Cyclohexene 

Answer: A

+NH3 + NaBH3CN

+2NH3

+NaNH2

+NH3

https://dl.doubtnut.com/l/_lWUk6myornoY
https://dl.doubtnut.com/l/_BqC95QJl0Zfn


Watch Video Solution

46. Which of the following reagents would be best for converting

phenylacetamide ?

A.  & Pt catalyst

B. 

C.  in ether

D. Aqueous NaOBr

Answer: C

Watch Video Solution

(C6H5CH2CH2NH2)

H2

NaBH3CN

LiAlH4

47. Which of the following have highest  valuepka

https://dl.doubtnut.com/l/_BqC95QJl0Zfn
https://dl.doubtnut.com/l/_5WrV5M1NMU42
https://dl.doubtnut.com/l/_DGG1v7phuK5Z


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_DGG1v7phuK5Z


48. One mole of  is made to react with one mole of  Cl, which of

the following is/ are formed

A. 

B. 

C. 

D. All the above

Answer: D

Watch Video Solution

NH3 CH3

CH3NH2

(CH3)2NH

(CH3)3N

49. Compound having the molecular formula  reacts with benzene

sulphonyl chloride to give product which is soluble in NaOH. The

compound is

A. Primary amine

B. Secondary amine

C3H9N

https://dl.doubtnut.com/l/_5Vr0srrXDuot
https://dl.doubtnut.com/l/_yZqgQRvMGutv


C. Tertiary amine

D. Quaternary salt

Answer: A

Watch Video Solution

50. Which compound has highest boiling point

A. 

B. 

https://dl.doubtnut.com/l/_yZqgQRvMGutv
https://dl.doubtnut.com/l/_skcWRAEbMYrF


C. 

D. 

Answer: C

Watch Video Solution

51. Which compound on reduction with  give n-butylamine

A. n-Butylcyanide

B. n-Propylcyanide

LiAlH4

https://dl.doubtnut.com/l/_skcWRAEbMYrF
https://dl.doubtnut.com/l/_imcH2ytZPKhC


C. Iso-Butylcyanide

D. Vilnyl-cyanide

Answer: B

Watch Video Solution

52. Aniline reacts with  in acetic acid to give

A. 

B. 

Br2

https://dl.doubtnut.com/l/_imcH2ytZPKhC
https://dl.doubtnut.com/l/_s4ZbLvzYxTvk


C. 

D. 

Answer: D

Watch Video Solution

53. In the reaction of p-chlorotoulene with  in liq.  the major

product is

A. o-toluidine

B. p-chloroaniline

KNH2 NH3

https://dl.doubtnut.com/l/_s4ZbLvzYxTvk
https://dl.doubtnut.com/l/_WzAtCl7lwubh


C. m-toluidine

D. p-toluidine

Answer: C

Watch Video Solution

54. Which of the following sequence of reactions convert aniline into

chlorobenzene

A. Conc. HCl under high P and high T

B. Sn – HCI, Boiling in 

C. 

D. , Boil in 

Answer: C

Watch Video Solution

H2O

NaNO2 − HCI, Cu2Cl2, KCI

HNO3 − H2SO4, Cu2Cl2, KCI H2O

https://dl.doubtnut.com/l/_WzAtCl7lwubh
https://dl.doubtnut.com/l/_lHQGsZIuu651


Level Ii Lecture Sheet Exercise Iii Linked Comprehension Type Questions

Passage I

1. The reaction of amines with  depends on the type of

the amine and whether it is aliphatic or aromatic. The diazo group

developed in aliphatic primary amines is rather highly unstable and

decompose to produce mainly alcohols. Secondary amines react to give

yellow oily liquids. 

Which of the following amines give yellow oily liquid nitroso compounds

on reaction with .

A. 

B. 

C. 

D. Both a & b

NaNO2 + HCl

NaNO2 + HCI

CH3CH2NHCH3

https://dl.doubtnut.com/l/_4LB821o5s602


Answer: D

Watch Video Solution

2. The reaction of amines with  depends on the type of

the amine and whether it is aliphatic or aromatic. The diazo group

developed in aliphatic primary amines is rather highly unstable and

decompose to produce mainly alcohols. Secondary amines react to give

yellow oily liquids. 

The possible alcohols produced ore 

  

with  is / are

A. 

NaNO2 + HCl

NaNO2HCl

https://dl.doubtnut.com/l/_4LB821o5s602
https://dl.doubtnut.com/l/_84hjcRrq1FNa


B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

3. The reaction of amines with  depends on the type of

the amine and whether it is aliphatic or aromatic. The diazo group

developed in aliphatic primary amines is rather highly unstable and

decompose to produce mainly alcohols. Secondary amines react to give

yellow oily liquids. 

NaNO2 + HCl

https://dl.doubtnut.com/l/_84hjcRrq1FNa
https://dl.doubtnut.com/l/_iP8jSJF48mF5


  

 product structure is likely to be

A. 

B. 

C. 

D. All the above

Answer: D

Watch Video Solution

NaNO2 +HCl
−−−−−−−−→

https://dl.doubtnut.com/l/_iP8jSJF48mF5


Level Ii Lecture Sheet Exercise Iii Linked Comprehension Type Questions

Passage Ii

1. A, B, C are with molecular formula  three isomeric amines. A

and B react with  but not C. C reacts with 

 to give yellow oily liquid. A and B on treatment with 

and acetic acid separately produced compounds D  and 

.  

The name of compound B is likely to be

A. 3, 4 – dimethyl aniline

B. 3, 5 – dimethyl aniline

C. 4 – Ethyl aniline

D. 2, 6 – dimethyl aniline

Answer: D

Watch Video Solution

C8H11N

CHCl3 + KOH

NaNO2 + HCl Br2

(C8H9NBr2)

E(C8H8NBr3)

https://dl.doubtnut.com/l/_aX31eEoUZZZj


2. A, B, C are with molecular formula  three isomeric amines. A

and B react with  but not C. C reacts with 

 to give yellow oily liquid. A and B on treatment with 

and acetic acid separately produced compounds D  and 

.  

compound C may be

A. 

B. 

C. 

D. All the above

C8H11N

CHCl3 + KOH

NaNO2 + HCl Br2

(C8H9NBr2)

E(C8H8NBr3)

https://dl.doubtnut.com/l/_05fYqN5ytvIb


Answer: D

Watch Video Solution

3. A, B, C are with molecular formula  three isomeric amines. A

and B react with  but not C. C reacts with 

 to give yellow oily liquid. A and B on treatment with 

and acetic acid separately produced compounds D  and 

.  

compound A is

A. 

B. 

C8H11N

CHCl3 + KOH

NaNO2 + HCl Br2

(C8H9NBr2)

E(C8H8NBr3)

https://dl.doubtnut.com/l/_05fYqN5ytvIb
https://dl.doubtnut.com/l/_4f3AsloDllcW


Level Ii Lecture Sheet Exercise Iv Match The Following Questions

C. 

D. All the above

Answer: D

Watch Video Solution

1. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_4f3AsloDllcW
https://dl.doubtnut.com/l/_nd44DyIcgUua
https://dl.doubtnut.com/l/_7ZqLq75Iig33


2. Match the following 

Watch Video Solution

3. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_7ZqLq75Iig33
https://dl.doubtnut.com/l/_6xjqz5wLi5jq


4. Match the following 

Watch Video Solution

5. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_CPhBuu0zSwz6
https://dl.doubtnut.com/l/_1tV7YtlVgcUM


6. Match the following 

Watch Video Solution

7. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_Wbz3f1zEe2HM
https://dl.doubtnut.com/l/_tSagurNRtznc


8. Match the four starting materials (P,Q,R,S) given in List-I with the

correspoinding reaction schemes (I, II, III, IV) provided in List - II and select

the correct answer using the code given below the lists 

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

A Q R S

1 4 2 3

A Q R S

3 1 4 2

A Q R S

3 4 2 1

A Q R S

4 1 3 2

https://dl.doubtnut.com/l/_d4uxnc2Q4DB8


Level Ii Lecture Sheet Exercise Iv Integer Answer Type Questions

1. The number of resonating structures of arylammonium ion is

Watch Video Solution

2. The number of resonance structures for anilinium ion is

Watch Video Solution

https://dl.doubtnut.com/l/_Sd88Ea1xcQtV
https://dl.doubtnut.com/l/_n9P80I55lygy


3. The number of [H] required to reduce 

  

with Sn-HCl to give aniline.

Watch Video Solution

https://dl.doubtnut.com/l/_aCAJzBzfhPX5


4.  The number of oxygen atoms in A

Watch Video Solution

CH2 −CN

∣

(CH2)7
∣

CH2 −CN

H3O
+ Δ

−−−−→ A

5. From among following pairs, number of pairs in which �rst compound

is more basic than second compound is 

Watch Video Solution

6. Which of the following nitrogen containing compounds are aromatic

according to Huckel rule 

https://dl.doubtnut.com/l/_aCAJzBzfhPX5
https://dl.doubtnut.com/l/_FNaResh68Ghf
https://dl.doubtnut.com/l/_MbB82yK1nP32
https://dl.doubtnut.com/l/_EhyF2O9rRTGD


Practice Sheet 1 Single Answer Questions

Watch Video Solution

1. Which of the following is the strongest base in aqueous solution

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

(CH3)3N

(CH3)NCH2CH2OH

CH3CH2CH2NHOH

(CH3)4NOH

https://dl.doubtnut.com/l/_EhyF2O9rRTGD
https://dl.doubtnut.com/l/_VEQNtXzODbna


Watch Video Solution

2. Which of the following diazonium salts readily undergo diazo coupling

reaction with phenol

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_VEQNtXzODbna
https://dl.doubtnut.com/l/_nNVCNqdldHUT


Answer: C

Watch Video Solution

3. Consider the reactions 

  

The products A, B, C respectively are

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_nNVCNqdldHUT
https://dl.doubtnut.com/l/_ek3IUEsk8J76


Answer: B

Watch Video Solution

4. Two compounds 

  

are allowed to react with Br, in presence of KOH in the same reaction

medium. The products obtained are (*indicates nitrogen atom is labelled)

A. 

B. 

https://dl.doubtnut.com/l/_ek3IUEsk8J76
https://dl.doubtnut.com/l/_GJfXRxYU9ynn


C. 

D. 

Answer: B

Watch Video Solution

5. p-Toluidine  A. A in the above sequence is

A. 

Br2 −H2O
−−−−−→

https://dl.doubtnut.com/l/_GJfXRxYU9ynn
https://dl.doubtnut.com/l/_SLGtkLvXWAvQ


B. 

C. 

D. 

Answer: A

Watch Video Solution

6. Which of the following procedures would be best for preparing

isobutylisopropylamine, ?(CH3)2CHNHCH2CH(CH3)2

https://dl.doubtnut.com/l/_SLGtkLvXWAvQ
https://dl.doubtnut.com/l/_uXUKhTDyPtvs


A. 

B. (i)  (ii)  in ether

C. (i)  (ii)  & Pt

D. 

Answer: B

Watch Video Solution

(CH3)2CHBr + (CH3)2CHCH2NH2

(CH3)2CHBr + (CH3)2CHCONHNa LiAlH4

(CH3)2CHNH2 + (CH3)2CHCH = O H2

(CH3)2CHNH + (CH3)2CHNH2

7. The Hinsberg test of a  compound produces a solid that is

insoluble in 10% aq. NaOH. This solid derivative dissolves in 10% aq.

sulphuric acid. Which of the following would best �t these facts ?

A. 

B. 

C. 

D. 

C5H14N2

NH2CH2CH2CH2N(CH3)2

(CH3)2NCH2CH2NHCH3

NH2CH2C(CH3)2CH2NH2

(CH3)2NCH2N(CH3)2

https://dl.doubtnut.com/l/_uXUKhTDyPtvs
https://dl.doubtnut.com/l/_lf0eXqbLOtJO


Answer: B

Watch Video Solution

8. How would you accomplish the following synthesis ? 

A. 1.  2. NaOH 3. HONO, ice bath 4.  5. NaH

6. MeBr 7. , catalyst

B. 1.  2. Fe, HCl 3. NaOH 4. HONO, ice bath 5. 

 6. MeONa, MeBr

C. 1. Sn, HCl 2.  3. HONO, ice bath 4.  5.

MeONa 6. MeBr

HNO3, H2SO4 Cu2O, H2O

H2

HNO2, H2SO4

Cu2O, H2O

HNO2, H2SO4 Cu2O, H2O

https://dl.doubtnut.com/l/_lf0eXqbLOtJO
https://dl.doubtnut.com/l/_CXBRADeHh5fN


D. 1. HONO, ice bath 2.  3. NaH 4. MeBr 5. 

6. , catalyst

Answer: D

Watch Video Solution

Cu2O, H2O HNO3, H2SO4

H2

9. Complete the following reaction

A. 

https://dl.doubtnut.com/l/_CXBRADeHh5fN
https://dl.doubtnut.com/l/_iSMG4oY7rDag


B. 

C. 

D. Both b and c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_iSMG4oY7rDag


10.  (A) and (B)

respectively

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

11. Reduction of nitrobenzene using  givesLiAlH4

https://dl.doubtnut.com/l/_d6vn2fvajWLw
https://dl.doubtnut.com/l/_jsxlWblKDSu3


Practice Sheet 1 More Than One Correct Answer Questions

A. Azobenzene

B. Hydrazobenzene

C. Aniline

D. Phenylhydroxylamine

Answer: A

Watch Video Solution

1. Which of the following statements is right

A. Aliphatic amines are stronger bases than ammonia

B. Aromatic amines are stronger bases than ammonia

C. In aniline nitrogen atom is 

D. Both a &c

sp2

https://dl.doubtnut.com/l/_jsxlWblKDSu3
https://dl.doubtnut.com/l/_CVOJm2MuTV01


Answer: D

Watch Video Solution

2. Which of the following statements is/are correct?

A. Primary amines show intermolecular hydrogen bonding

B. Secondary amines shows intermolecular hydrogen bonding

C. Tertiary amines show intermolecular hydrogen bonding

D. Amines have lower boiling points as compared to those of alcohols

and carboxylic acids of comparable molecular mass

Answer: A::B::D

Watch Video Solution

3. Which of the following intermediates in Sandmeyer's reaction ?

https://dl.doubtnut.com/l/_CVOJm2MuTV01
https://dl.doubtnut.com/l/_XNUzTkDXdInf
https://dl.doubtnut.com/l/_auPDJLnwDfdV


A. 

B.  (Phenyl radical)

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

C6H5 −
⊕
N ≡ N

⋅
C6H5

C6H5Cl

C6H5

+
N ≡ NCl−

4. Benzylamine is more hasic than

A. Aniline

B. Ammonia

C. p-nitroaniline

D. Sodium hydroxide

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_auPDJLnwDfdV
https://dl.doubtnut.com/l/_Zb7VVfvNPdgs


5. Which statements are right

A. All Amine are basic

B. Amines are puri�ed by reaction with dil HCl

C. Amines are puri�ed by reaction with dil.NaOH

D. Basic nature is due to presence of lone pair of electrons on N-atom

Answer: A::B::D

Watch Video Solution

6. Converstion of benzene diazonium chloride to chloro benzene is an

example of which of the following reaction?

A. Claisen

B. Friedel-craft

C. Sandmeyer

https://dl.doubtnut.com/l/_Zb7VVfvNPdgs
https://dl.doubtnut.com/l/_DGdJinPhGFzW
https://dl.doubtnut.com/l/_0qzCFcSEKqq1


Practice Sheet 1 Linked Comprehension Type Questions Passage I

D. Wurtz

Answer: C

Watch Video Solution

1. Reaction of benzene with a mixture of conc.  and Conc  at

about  give nitrobenzene. Nitration of substituted benzenes

depends on the nature of the group already present in the ring. Increase

of temperature may result in multiple nitration. 

Which of the following compounds undergo nitration at a rate faster

than the other

A. Toluene

B. Phenol

C. Benzene

HNO3 H2SO4

60∘C

https://dl.doubtnut.com/l/_0qzCFcSEKqq1
https://dl.doubtnut.com/l/_bw49bmZ4id1S


D. Chlorobenzene

Answer: B

Watch Video Solution

2. Reaction of benzene with a mixture of conc.  and Conc  at

about  give nitrobenzene. Nitration of substituted benzenes

depends on the nature of the group already present in the ring. Increase

of temperature may result in multiple nitration. 

Nitration of benzene is an

A. Elechphilic addition

B. Electrophilic substitution

C. Nucleophilic substitution

D. Nucleophilic addition

Answer: B

Watch Video Solution

HNO3 H2SO4

60∘C

https://dl.doubtnut.com/l/_bw49bmZ4id1S
https://dl.doubtnut.com/l/_I1A6F4m4Waph


3. Reaction of benzene with a mixture of conc.  and Conc  at

about  give nitrobenzene. Nitration of substituted benzenes

depends on the nature of the group already present in the ring. Increase

of temperature may result in multiple nitration. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HNO3 H2SO4

60∘C

https://dl.doubtnut.com/l/_I1A6F4m4Waph
https://dl.doubtnut.com/l/_faE6g72MfHUo


Practice Sheet 1 Linked Comprehension Type Questions Passage Ii

1. A' and 'B' are two isomeric compounds of the formula . 'A' on

treatment with P,Os gives 'C'. Both 'A' and 'C' on alkaline hydrolysis evolve

. 'B' can be easily prepared from acetaldehyde. ‘A' is amphoteric

inature and acid derivative. 

The structure of ‘A' is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2H5NO

NH3

CH3 −

O

∣ ∣

C − NH2

CH3 − CH = NOH

CH3 − CH2 − N = O

CH3 −

O

↑

N − CH3

https://dl.doubtnut.com/l/_7AZ88qWyhpaz


2. A' and 'B' are two isomeric compounds of the formula . 'A' on

treatment with P,Os gives 'C'. Both 'A' and 'C' on alkaline hydrolysis evolve

. 'B' can be easily prepared from acetaldehyde. ‘A' is amphoteric

inature and acid derivative. 

'B' is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H5NO

NH3

CH3 − CH = NOH

CH2 = CH2 − NHOH

CH2 = CH − CH2NHOH

CH3C ≡ N

3. A' and 'B' are two isomeric compounds of the formula . 'A' on

treatment with P,Os gives 'C'. Both 'A' and 'C' on alkaline hydrolysis evolve

. 'B' can be easily prepared from acetaldehyde. ‘A' is amphoteric

C2H5NO

NH3

https://dl.doubtnut.com/l/_2YSAyEjQO7Rz
https://dl.doubtnut.com/l/_BHwgwDGXe1wa


Practice Sheet 1 Matching Type Questions

inature and acid derivative. 

'C' is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

CH3C ≡ N

CH3C =
−−→

N

CH2 = CH − CN

https://dl.doubtnut.com/l/_BHwgwDGXe1wa


1. Match the following columns

Watch Video Solution

2. Match the following columns

Watch Video Solution

https://dl.doubtnut.com/l/_UUH3RKgfmT23
https://dl.doubtnut.com/l/_e3YL4hNEkjL1


3. The number of compounds which contain at least one basic nitrogen is 

Watch Video Solution

4. The number of atoms which are  hybridised in aniline is

Watch Video Solution

sp2

5. The number of primary amines possible for  (exclude

stereoisomers)

Watch Video Solution

C4H9N

https://dl.doubtnut.com/l/_kfjSf18yGeLT
https://dl.doubtnut.com/l/_FZWzmR6ouz57
https://dl.doubtnut.com/l/_zicBKlyUKs0d


6. The number of primary amines possible for  (exclude

stereoisomers)

Watch Video Solution

C4H9N

7. The number of p-disubstituted benzene derivations of  is

Watch Video Solution

C9H13N

8. The number of amines which behave like atiphatic amines from the

following list is 

Watch Video Solution

https://dl.doubtnut.com/l/_UpzieaYr1XPL
https://dl.doubtnut.com/l/_Qi3PC8nc8lcP
https://dl.doubtnut.com/l/_Z5zqT5vufbmT


Practice Sheet 2 Single Answer Questions

9. Number of tertiary amines possible fo  (excluding

stereoisomers) is

Watch Video Solution

C6H5N

1.   

The product of the reaction is

A. 

https://dl.doubtnut.com/l/_N5qM2YhqNi4b
https://dl.doubtnut.com/l/_srSVfIMeeqSp


B. 

C. 

D. 

Answer: C

Watch Video Solution

2. Which of the following statements regarding 

  

is true

https://dl.doubtnut.com/l/_srSVfIMeeqSp
https://dl.doubtnut.com/l/_Oh9EFjzy3b8f


A. I is more basic than II

B. I is less basic than II

C. I and II are equally basic

D. I and II are not basic

Answer: B

Watch Video Solution

3.   

The Structure of the product is

A. 

B. 

C. 

https://dl.doubtnut.com/l/_Oh9EFjzy3b8f
https://dl.doubtnut.com/l/_PDNBxwH1NtEe


D. 

Answer: C

Watch Video Solution

4. Consider the following 

  

(II) Order of Basic nature 

  

https://dl.doubtnut.com/l/_PDNBxwH1NtEe
https://dl.doubtnut.com/l/_dBHJc3t2TtZB


  

is more basic than ammonia

A. All statements I, II, III are correct

B. II is wrong I and III are correct statements

C. I & III are wrong, II is correct

D. I, II are right III is wrong

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_dBHJc3t2TtZB


5.   

The structure of the product B is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6. Arrange p-methylaniline (I), m-methyl aniline (II), aniline (III), o-methyl

aniline (IV), in the order of basicity.

https://dl.doubtnut.com/l/_vGCf5anmd9vh
https://dl.doubtnut.com/l/_8zbkUxh0V1eB


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I > II > III > IV

IV > III > II > I

II > I > III > IV

I > III > II > IV

7. Which of the following is the strongest Bronsted acid ?

A. 

B. 

https://dl.doubtnut.com/l/_8zbkUxh0V1eB
https://dl.doubtnut.com/l/_GD8FUL5uZw4u


C. 

D. 

Answer: A

Watch Video Solution

8. In which of the following reactions give only primary amine

A. 

B. 

C. 

D. All the above

Answer: D

RCN
H2 −Ni
−−−−→

RCONH2
LiAlH4

−−−→

RCH2NO2

Sn/HCl

−−−−→

https://dl.doubtnut.com/l/_GD8FUL5uZw4u
https://dl.doubtnut.com/l/_8L0MtMR2wvSt


Watch Video Solution

9. Which of the following sequence orf reactions is useful to prepare

compound A from benzene 

A. CH3Cl, AlCl3, HNO3, H2, SO4, H2

https://dl.doubtnut.com/l/_8L0MtMR2wvSt
https://dl.doubtnut.com/l/_KwFJsr8JX4yC


B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3Cl, AlCl3, HNO3, H2SO4, Fe, HCl, NaOH

HNO3, H2SO4, Fe, HCl, NaOH, CH3Cl, AlCl3

HNO3, H2SO4, CH3Cl, AlCl3, Fe, HCl, NaOH

10.   

The structure of B is

A. 

B. 

https://dl.doubtnut.com/l/_KwFJsr8JX4yC
https://dl.doubtnut.com/l/_Xg3Tm63obSxE


Practice Sheet 2 More Than One Correct Answer Questions

C. 

D. 

Answer: B

Watch Video Solution

1. Which of the following can be used for nitration of aromatic compound

?

A. Conc. 

B. Nitronium tetra�uoroborate

C. Nitronium perchlorate

D.  & HCl

HNO3 + Conc. H2SO4

NaNO2

https://dl.doubtnut.com/l/_Xg3Tm63obSxE
https://dl.doubtnut.com/l/_vLZ8RkrLP68P


Answer: A::B::C

Watch Video Solution

2. The correct resonance strucuture(s) of p - nitrophenoxide is

A. 

B. 

https://dl.doubtnut.com/l/_vLZ8RkrLP68P
https://dl.doubtnut.com/l/_ELt6fdjuEVXE


C. 

D. 

Answer: A::D

Watch Video Solution

3. Which of the following react(s) with nitrous acid ?

A. Nitroethane

B. 2-Nitropropane

https://dl.doubtnut.com/l/_ELt6fdjuEVXE
https://dl.doubtnut.com/l/_cduwKqByvtNK


C. Phenol

D. Ethylamine

Answer: C::D

Watch Video Solution

4. Carbylamine test is used for the detection of primary amine group,

which of these is related with carbylamine reaction ?

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

R − NC

CHCl3

NaNO2 + HCl

Cl2

https://dl.doubtnut.com/l/_cduwKqByvtNK
https://dl.doubtnut.com/l/_G8gBH9WnKPwu
https://dl.doubtnut.com/l/_taptUNfnVIZg


Practice Sheet 2 Linked Comprehension Type Questions Passage I

5. The compounds which can be puri�ed by steam distillation.

A. Nitrobenzene

B. Aniline

C. o-nitro-phenol

D. m-nitrophenol

Answer: A::B::C

Watch Video Solution

1. A reaction of aryl diazonium salts that does not involved loss of

nitrogen takes place when they react with phenol and aromatic amines.

Aryl diazonium ion relatively is weak electrophile but has su�cient

reactivity to attack strongly activated aromatic ring. The reaction is

known as azo coupling. The coupling of diazonium ions with phenols or

https://dl.doubtnut.com/l/_taptUNfnVIZg
https://dl.doubtnut.com/l/_vOlNCwj8wwEF


other electron rich aromatic compounds is useful commercial reaction as

azo compounds are highly coloured and many of them are used as dyes. 

Which of the folllowing is responsible for the colour of diazo compounds

?

A. Benzene ring

B. group

C.  group

D.  group

Answer: B

Watch Video Solution

−N = N −

−OH

−NH2

2. A reaction of aryl diazonium salts that does not involved loss of

nitrogen takes place when they react with phenol and aromatic amines.

Aryl diazonium ion relatively is weak electrophile but has su�cient

reactivity to attack strongly activated aromatic ring. The reaction is

known as azo coupling. The coupling of diazonium ions with phenols or

https://dl.doubtnut.com/l/_vOlNCwj8wwEF
https://dl.doubtnut.com/l/_1Jfb5laRMTUz


other electron rich aromatic compounds is useful commercial reaction as

azo compounds are highly coloured and many of them are used as dyes. 

Coupling between arenediazonium cation and amines takes place most

rapidly at pH

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10 − 14

0 − 2

5 − 7

5 − 8

3. A reaction of aryl diazonium salts that does not involved loss of

nitrogen takes place when they react with phenol and aromatic amines.

Aryl diazonium ion relatively is weak electrophile but has su�cient

reactivity to attack strongly activated aromatic ring. The reaction is

known as azo coupling. The coupling of diazonium ions with phenols or

https://dl.doubtnut.com/l/_1Jfb5laRMTUz
https://dl.doubtnut.com/l/_NBhsslMEr51I


other electron rich aromatic compounds is useful commercial reaction as

azo compounds are highly coloured and many of them are used as dyes. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NBhsslMEr51I


Practice Sheet 2 Linked Comprehension Type Questions Passage Ii

1. Compound  liberates hydrogen on reaction with metallic

sodium. A on reaction with  and HCl was found to give three

products  and  a vicinal. Both B &

C react with 2,4 – DNP to give coloured product. C reduces Fehling's

solution, but not B. B on reduction with HI & Red P gave cyclohexane

while C gave methylcyclophentane. D on reduction with HI & Red P also

gave cyclohexane. 

Study the reaction give above carefully and answer the following

questions. 

Compound 'B' is

A. 

B. 

A(C6H13NO)

NaNO2

B(C6H10O), C(C6H10O) D(C6H12O2)

https://dl.doubtnut.com/l/_NBhsslMEr51I
https://dl.doubtnut.com/l/_1OBrVVfFesiL


C. 

D. 

Answer: A

Watch Video Solution

2. Compound  liberates hydrogen on reaction with metallic

sodium. A on reaction with  and HCl was found to give three

products  and  a vicinal. Both B &

C react with 2,4 – DNP to give coloured product. C reduces Fehling's

solution, but not B. B on reduction with HI & Red P gave cyclohexane

while C gave methylcyclophentane. Don reduction with HI & Red P also

gave cyclohexane. 

A(C6H13NO)

NaNO2

B(C6H10O), C(C6H10O) D(C6H12O2)

https://dl.doubtnut.com/l/_1OBrVVfFesiL
https://dl.doubtnut.com/l/_wQfAE7xIeOfx


Study the reaction give above carefully and answer the following

questions. 

Compound 'C' is

A. 

B. 

C. 

D. 

Answer: B

W h Vid S l i

https://dl.doubtnut.com/l/_wQfAE7xIeOfx


Watch Video Solution

3. Compound  liberates hydrogen on reaction with metallic

sodium. A on reaction with  and HCl was found to give three

products  and  a vicinal. Both B &

C react with 2,4 – DNP to give coloured product. C reduces Fehling's

solution, but not B. B on reduction with HI & Red P gave cyclohexane

while C gave methylcyclophentane. Don reduction with HI & Red P also

gave cyclohexane. 

Study the reaction give above carefully and answer the following

questions. 

The structure of Compound 'A' is

A. 

B. 

A(C6H13NO)

NaNO2

B(C6H10O), C(C6H10O) D(C6H12O2)

https://dl.doubtnut.com/l/_wQfAE7xIeOfx
https://dl.doubtnut.com/l/_qlD5wTr9gvRg


Practice Sheet 2 Match The Following Questions

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qlD5wTr9gvRg


Practice Sheet 2 Integer Answer Type Questions

1. Match the following columns

Watch Video Solution

2. Match the following columns

Watch Video Solution

https://dl.doubtnut.com/l/_DeGHa8lJYGxH
https://dl.doubtnut.com/l/_Q4h44Dw4wbka


1. The number of electrons change during the conversion of nitrobenzene

to aniline is

Watch Video Solution

2. Reduction of nitrobenzene with  gives azobenzene. The number

of hydrogen atoms involved in the formation of the product is

Watch Video Solution

LiAlH4

3. The number of resonance structures of nitrobenzene is

Watch Video Solution

4. The number of resonance structure of aniline is

Watch Video Solution

https://dl.doubtnut.com/l/_YzGnjk6RzXo4
https://dl.doubtnut.com/l/_59XhWTr4t749
https://dl.doubtnut.com/l/_rx7VCXtNHZaN
https://dl.doubtnut.com/l/_LRMKvul4bP45
https://dl.doubtnut.com/l/_D8HU9iaQYEvN


Practice Sheet 3 Single Answer Questions

5. Aniline reacts with bromine in acetic acid to give a white solid

compound. The number of bromine atoms present in compound is

Watch Video Solution

6. A primary amine reacts with benzene sulphonyl chloride to

sulphonamide. The number of acidic hydrogens present is sulphonamide

is

Watch Video Solution

7. Total secondary amine compounds possible (benzene derivations) for

Watch Video Solution

C8H11N

https://dl.doubtnut.com/l/_D8HU9iaQYEvN
https://dl.doubtnut.com/l/_lChzIrNoP4Jb
https://dl.doubtnut.com/l/_55KuacULkrQ3
https://dl.doubtnut.com/l/_VHJaVmWC9PcU


1. . The

compound A in the above reaction is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C6H5NH2 + A
(i)Ether
−−−−→ C6H5NHCOCH = CHCOOH

https://dl.doubtnut.com/l/_VHJaVmWC9PcU


2. Which of the following is the major product obtained by sulplination of

A. 

B. 

C. 

D. 

P − CH3 − C6H4

+
NH3 + Cl−

https://dl.doubtnut.com/l/_zEn7B0Yn2tQ6


Answer: A

Watch Video Solution

3.   

The Structure of the product is

A. 

B. 

C. 

https://dl.doubtnut.com/l/_zEn7B0Yn2tQ6
https://dl.doubtnut.com/l/_6ndIBe0tSDwA


D. 

Answer: A

Watch Video Solution

4.   

The �nal product of the reaction is

A. 

https://dl.doubtnut.com/l/_6ndIBe0tSDwA
https://dl.doubtnut.com/l/_gsIDvCFsoaBI


B. 

C. 

D. 

Answer: A

Watch Video Solution

5. I : Tertiary amines do not form intermolecular hydrogen bonds 

II : All amines form H-bonds with water 

III : Amines are higher boiling than alcohols and carboxylic acids of

comparable molecularweights

https://dl.doubtnut.com/l/_gsIDvCFsoaBI
https://dl.doubtnut.com/l/_wNR4bZYUoF5c


A. I & II are wrong, III is right

B. I & III are right, II is wrong

C. I & II are right, III is wrong

D. II is right I, III are wrong

Answer: C

Watch Video Solution

6. Which of the following coupling reactions takes place most readily than

others

A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_wNR4bZYUoF5c
https://dl.doubtnut.com/l/_CNWvYSgaVhPj


Watch Video Solution

7. Which of the following compounds is cyclopentyldiethylamine?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CNWvYSgaVhPj
https://dl.doubtnut.com/l/_mSuvoUmDZVWu


8. Which of the following is the weakest Bronsted base ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

9. A nitrogen containing compound dissolves in 10% aq. sulfuric acid. The

Hinsberg test (  in base) gives a solid product that is notC6H5SO2Cl

https://dl.doubtnut.com/l/_bOIH48S6CyYO
https://dl.doubtnut.com/l/_keqFuGidZ4KI


soluble in 10% aq. NaOH. Which of the following would best �t these

facts?

A. N,N-Dimethylaniline, .

B. N-Methylbenzamide, .

C. N-Methylaniline, .

D. Benzylamine, .

Answer: C

Watch Video Solution

C6H5N(CH3)2

C6H5CONHCH3

C6H5NHCH3

C6H5CH2NH2

10. How would you accomplish the following synthesis ? 

A. 1. 1 eq.  2.  3. , catalyst 4. HONO, ice

bath 5. KI

Br2, FeBr3 HNO3, H2SO4 H2

https://dl.doubtnut.com/l/_keqFuGidZ4KI
https://dl.doubtnut.com/l/_VQEOSRMKImgZ


B. 1. , FeBr 2.  3. Zn Hg, HCI 4. HONO, room

temperature 5. CuI

C. 1.  2. leq.  3. Zn, HCI 4. HONO, ice bath 5. 

D. 1.  2. Fe, HCI 3. Zn Hg, HCI 4. HONO, ice bath 5. 

Answer: A

Watch Video Solution

Br2 HNO2, H2SO4

HNO3, H2SO4 Br2, FeBr3

I2

HNO2, H2SO4 Br2

11. The formula of sulphanilic acid is

A. 

https://dl.doubtnut.com/l/_VQEOSRMKImgZ
https://dl.doubtnut.com/l/_DJm7XSl9RI8r


B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_DJm7XSl9RI8r


12. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: A

https://dl.doubtnut.com/l/_IlIJQYdLDHx6


Practice Sheet 3 More Than One Correct Answer Questions

Watch Video Solution

1. Which of the following is /are correct ?

A. During mono nitration of benzene with conc.  and conc. 

 temperature should not be allowed to exceed 

B. In nitrating mixture  acts as base

C. Electrophilic substitution in aromatic compounds involves arenium

ion

D. Nitrogen and  can be used an nitrating mixture

Answer: A::B::C

Watch Video Solution

H2SO4

HNO3 60∘C

(HNO3 + H2SO4), HNO3

H2SO4

https://dl.doubtnut.com/l/_IlIJQYdLDHx6
https://dl.doubtnut.com/l/_Lrm9qbX8vugl


2. Which of the following compounds undergo nucleophilic substitution

reaction

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

3. Which of these is soluble in NaOH?

https://dl.doubtnut.com/l/_31mmn26ziGGa
https://dl.doubtnut.com/l/_LGT28wdlumdT


A. Nitroethane

B. 2-Nitropropane

C. Phenylnitromethane

D. Nitrobenzene

Answer: A::B::C

Watch Video Solution

4. A positive carbylamine test is given by

A. N, N-dimethylaniline

B. 2, 4-dimethylaniline

C. N-methyl-o-methylaniline

D. p- methylbenzylamine

Answer: B::D

Watch Video Solution

https://dl.doubtnut.com/l/_LGT28wdlumdT
https://dl.doubtnut.com/l/_x2T1mwmO20F8


5. Which of the following is not be prepared by Sandmeyer's reaction ?

A. Chlorobenzene

B. Bromobenzene

C. Iodobenzene

D. Fluorobenzene

Answer: C::D

Watch Video Solution

6. Which of the following regarding basic nature of amine is correct

A. 

B. 

https://dl.doubtnut.com/l/_x2T1mwmO20F8
https://dl.doubtnut.com/l/_uPMog4v7zDLh
https://dl.doubtnut.com/l/_D3oeGtuVbVFm


Practice Sheet 3 Linked Comprehension Type Questions Passage I

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

(CH3CO2)2NH > (CH3CH2)3N

(CH3)2NH > CH3NH2

1. Carefully study the reaction give below and answer the questions 

  

The structure of 'C' is

A. 

https://dl.doubtnut.com/l/_D3oeGtuVbVFm
https://dl.doubtnut.com/l/_yUksOo5k9WTp


B. 

C. 

D. 

Answer: A

Watch Video Solution

2. Carefully study the reaction give below and answer the questions 

  

https://dl.doubtnut.com/l/_yUksOo5k9WTp
https://dl.doubtnut.com/l/_ncOIFamIlp0q


The sturucture of 'D' is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3. Carefully study the reaction give below and answer the questions 

  

https://dl.doubtnut.com/l/_ncOIFamIlp0q
https://dl.doubtnut.com/l/_p6k986uwhw2C


Practice Sheet 3 Linked Comprehension Type Questions Passage Ii

The structure of 'A' is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_p6k986uwhw2C


1. Several isomeric amines are possible with the molecular formula

. On the basis of the reaction given by each of the isomers,

identify the structure of the compound. 

a)  p-Nitroso compound  

b)  Diazonium salt formed  

c)  N-Nitroso compound formed  

The structure of 'A' is likely to be

A. 

B. 

C. 

C8H11N

A(C8H11N)
NaNO2 −HCl
−−−−−−−−→

0 − 5 ∘C

B(C8H11N)
NaNO2 −HCl
−−−−−−−−→

0 − 5 ∘C

C(C8H11N)
NaNO2 −HCl
−−−−−−−−→

0 − 5 ∘C

https://dl.doubtnut.com/l/_7niU0NJifqSV


D. 

Answer: C

Watch Video Solution

2. Several isomeric amines are possible with the molecular formula

. On the basis of the reaction given by each of the isomers,

identify the structure of the compound. 

a)  p-Nitroso compound  

b)  Diazonium salt formed  

c)  N-Nitroso compound formed  

The structure of 'B' is

C8H11N

A(C8H11N)
NaNO2 −HCl
−−−−−−−−→

0 − 5 ∘C

B(C8H11N)
NaNO2 −HCl
−−−−−−−−→

0 − 5 ∘C

C(C8H11N)
NaNO2 −HCl
−−−−−−−−→

0 − 5 ∘C

https://dl.doubtnut.com/l/_7niU0NJifqSV
https://dl.doubtnut.com/l/_cMuadP5burcX


A. 

B. 

C. 

D. All the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cMuadP5burcX


3. Several isomeric amines are possible with the molecular formula

. On the basis of the reaction given by each of the isomers,

identify the structure of the compound. 

a)  p-Nitroso compound  

b)  Diazonium salt formed  

c)  N-Nitroso compound formed  

The structure of 'C' is

A. 

B. 

C. 

D. All the above

C8H11N

A(C8H11N)
NaNO2 −HCl
−−−−−−−−→

0 − 5 ∘C

B(C8H11N)
NaNO2 −HCl
−−−−−−−−→

0 − 5 ∘C

C(C8H11N)
NaNO2 −HCl
−−−−−−−−→

0 − 5 ∘C

https://dl.doubtnut.com/l/_EPZzFyhaDewj


Practice Sheet 3 Match The Following Questions

Answer: D

Watch Video Solution

1. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_EPZzFyhaDewj
https://dl.doubtnut.com/l/_TATO0v0Y6nKy


Practice Sheet 3 Integer Answer Type Questions

2. Match the following 

View Text Solution

1. Number of p-disubstituted benzene compounds possible with

molecular formula  is

Watch Video Solution

C8H11N

https://dl.doubtnut.com/l/_k0AhwkYgmxbi
https://dl.doubtnut.com/l/_hfVguGGk85R8


2. How many of the following contain basic nitrogen 

Watch Video Solution

3. Heterocyclic (six membered secondary amines possible for 

Watch Video Solution

C6H13N

4. Four membered heterocyclic secondary amines possible for 

Watch Video Solution

C5H11N

https://dl.doubtnut.com/l/_IlQaOzuwhJFZ
https://dl.doubtnut.com/l/_en23KPmLDDvo
https://dl.doubtnut.com/l/_zUJImx1bq03n


5. Total number of electrons contributed by all nitrogen atoms for

delocalisation is

Watch Video Solution

6. Total number of amines possible for  is (exclude stereo-

isomers)

Watch Video Solution

C4H11N

https://dl.doubtnut.com/l/_VxLpcbzU8vqc
https://dl.doubtnut.com/l/_qJrNjEMaJl6v


Practice Sheet 4 Single Answer Questions

7. How many of the following give yellow oily liquid with

.

Watch Video Solution

NaNO2 + HCl, CH2CH2NH2, CH3NHCH3, CH3CH2NHCH3, CH3CH

1. The IUPAC name of the amine is : 

A. N-Ethyl 2,3 dimethyl cyclopentanamine

B. N-Ethyl 3, 4 dimethyl cyclopentanamine

C. N- 3, 4 dimethyl cyclopentanamine ethanamine

D. N-Ethyl 3, 3 dimethyl cyclopentanamine

https://dl.doubtnut.com/l/_1TVAqw4lrYbt
https://dl.doubtnut.com/l/_r9f6C4ilD3A4


Answer: B

Watch Video Solution

2. The pyramidal inversion from one invertomer of chiral tetrahedral

amine to another takes place via

A. Carbocationic intermediate

B. Anionic nitrogen intermediate

C. Cationic nitrogen intermediate

D. Planar nitrogen

Answer: D

Watch Video Solution

3. In the following reaction,  Nitrogen

containing compound . The nitrogen containing

CH3NH2 + CHCl3 + KOH →

+KCl + H2O

https://dl.doubtnut.com/l/_r9f6C4ilD3A4
https://dl.doubtnut.com/l/_0OQRbfViktDQ
https://dl.doubtnut.com/l/_CwBO1fQRthvo


compound is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − NH − CH3

CH3 − C ≡ N

CH3

−
N ≡

+
C

CH3

+
N ≡

−
C

4. Examine the following two structures for the anilinium ion and choose

the correct statement from the ones given below : 

https://dl.doubtnut.com/l/_CwBO1fQRthvo
https://dl.doubtnut.com/l/_PzVRjqW8X6iO


A. II is not acceptable canonical structure because carbonium inos are

less stable than ammonium ions

B. II is not an acceptable canonical structure because it is nonaromatic

C. II is not an acceptable canonical structure because nitrogen has 10

valence electrons

D. II is an acceptable canonical structure

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PzVRjqW8X6iO


5. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PzVRjqW8X6iO
https://dl.doubtnut.com/l/_MxSbZom6Bh1J


6. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1uQ6m8Ho2M0D


7. The product 

  

which is a red azo dye obtained on reacting benzene diazonium chloride

with one of the following compounds.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_NWxdyc83JWRE


D. 

Answer: B

Watch Video Solution

8. The best method for the preparation of primary amines is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

R − X
NH3
−−→ R − NH2

R − X
( i )NaN3

−−−−−−→
( ii )LiAiH4

R − NH2

R − X
NH3

−−−−−→
Al2O3 / Δ

R − NH2

R − X
NaNH2
−−−−→ R − NH2

https://dl.doubtnut.com/l/_NWxdyc83JWRE
https://dl.doubtnut.com/l/_CmMN9Wo7ouQ4


9. Acetophenone can be converted into amine is a single step by step

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Br2 /KOH

H2 H −∅

O

NH3 /H2, Ni/Δ

NH2OH

10.   

The �nal product is

A. 1, 3-butadiene

B. t − Bu − NH2

https://dl.doubtnut.com/l/_ozstUWp2SMpN
https://dl.doubtnut.com/l/_8lPKQQjiJRWx


C. isobutene

D. isobutanol

Answer: C

Watch Video Solution

11. N-ethyl formamide on treatment with  in pyridine gives

A. Ethyl isocyanate

B. Ethyl isocyanide

C. Acetaldoxime

D. Ethyl cyanide

Answer: B

Watch Video Solution

POCI3

https://dl.doubtnut.com/l/_8lPKQQjiJRWx
https://dl.doubtnut.com/l/_RRRVBPNfSTQM


12. Piperidine is a secondary amine, which is subjected to Hofmann

elimination. The alkene formed as a �nal product is

A. 1, 3-butadiene

B. 1,4-pentadiene

C. 1, 3-butadiyne

D. 1, 2-pentadiene

Answer: B

Watch Video Solution

13. An organic compound with molecular formula  on hydrolysis

gives an acid. The acid on heating with  and conc.  gives

A. Propanamide

B. Ethyl acetate

C. Methyl amine

C3H5N

N3H H2SO4

https://dl.doubtnut.com/l/_90Dyy9X1ONI8
https://dl.doubtnut.com/l/_XpEero4d4Uy7


Practice Sheet 4 More Than One Correct Answer Questions

D. Ethyl amine

Answer: D

Watch Video Solution

1.  can be reduced to  using the reducing agent.

A. 

B. 

C. NaOBr

D. 

Answer: A::D

Watch Video Solution

R − C ≡ N RCH2NH

H2N − NH2

H2 /Ni

LiAlH4

https://dl.doubtnut.com/l/_XpEero4d4Uy7
https://dl.doubtnut.com/l/_efti6OWXyGJU
https://dl.doubtnut.com/l/_vO41LuvEZVKy


2. Tertiary amines may be obtained by :

A. Gabriel phthalimide synthesis

B. Heating an alcoholic solution of ammonia with excess of RX

C. The hydrolysis of dialkyl cyanamide

D. Thermal decomposition of quaternary ammonium hydroxide

Answer: B::D

Watch Video Solution

3.  is soluble in

A. Dilute HCI

B.  solution

C. 

D. dil. 

CH3CH2NH2

CuSo4

AgNO3

H2SO4

https://dl.doubtnut.com/l/_vO41LuvEZVKy
https://dl.doubtnut.com/l/_bHX0EyWQNsIJ


Answer: A::B::C::D

Watch Video Solution

4. Which of the following statements is / are correct ?

A. Primary amines show intermolecular hydrogen bonding

B. Secondary amines show intermolecular hydrogen bonding

C. Tertiary amines show intermolecular hydrogen bonding

D. Amines have lower boiling points as compared to those of alcohols

and carboxylic acid of comparable molar masses

Answer: A::B::D

Watch Video Solution

5. Which of the following statements is / are correct?

https://dl.doubtnut.com/l/_bHX0EyWQNsIJ
https://dl.doubtnut.com/l/_3Xr8UnOFqZ2l
https://dl.doubtnut.com/l/_Q5y3Cc0Q2lsB


A. Aliphatic amines are stronger bases than ammonia

B. Aromatic amines are stronger bases than ammonia

C. The alkyl group in alkyl ammonium ion stabilizes the ion more

relative to the amine

D. The aryl group in aryl ammonium ion stabilizes the ion less relative

to the amine

Answer: A::C::D

Watch Video Solution

6. Which of the following statements is / are correct

A. In gas phase the basic strength order among the three types of

amines is .

B. Among the isomeric amines boiling points order is 

30 > 20 > 10

30 > 20 > 10

https://dl.doubtnut.com/l/_Q5y3Cc0Q2lsB
https://dl.doubtnut.com/l/_W3FSp8eAZyRG


Practice Sheet 4 Linked Comprehension Type Questions Passage I

C. Alcohols are more water soluble than amines (of comparable

molecular weight)

D. The C-N bond in Aromatic amines is shorter than that of in aliphatic

amincs

Answer: A::C::D

Watch Video Solution

1. The isomeric compounds ‘A’ and 'B' with molecular fomula  gave

the following reactions. When B is acetylated and then brominated, it

gave one monobromo derivative. 'A' when treated with  and HCI

gave the compound 'C'. 'C' was heated with acetic acid in the presence of

conc. , a pleasant smelling liquid (D) was obtained. 'B' was treated

with Na 

‘B’ is

C7H9N

NaNO2

H2SO4

https://dl.doubtnut.com/l/_W3FSp8eAZyRG
https://dl.doubtnut.com/l/_z60QvhOy0rfY


A. benzylamine

B. p-toluidine

C. o-toluidine

D. m-toluidine

Answer: B

Watch Video Solution

2. The isomeric compounds ‘A’ and 'B' with molecular fomula  gave

the following reactions. When B is acetylated and then brominated, it

gave one monobromo derivative. 'A' when treated with  and HCI

gave the compound 'C'. 'C' was heated with acetic acid in the presence of

conc. , a pleasant smelling liquid (D) was obtained. 'B' was treated

with Na 

'D' is

C7H9N

NaNO2

H2SO4

https://dl.doubtnut.com/l/_z60QvhOy0rfY
https://dl.doubtnut.com/l/_NXcSJK4K30Ov


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NXcSJK4K30Ov


Practice Sheet 4 Linked Comprehension Type Questions Passage Ii

3. The isomeric compounds ‘A’ and 'B' with molecular fomula  gave

the following reactions. When B is acetylated and then brominated, it

gave one monobromo derivative. 'A' when treated with  and HCI

gave the compound 'C'. 'C' was heated with acetic acid in the presence of

conc. , a pleasant smelling liquid (D) was obtained. 'B' was treated

with Na 

‘A’ is

A. o-toluidine

B. N-methylaniline

C. p-toluidine

D. benzylamine

Answer: D

Watch Video Solution

C7H9N

NaNO2

H2SO4

https://dl.doubtnut.com/l/_7LhW4wd9F01h
https://dl.doubtnut.com/l/_t3lXeSJYqURg


1. An organic compound 'A'  is insoluble in dil cold aqueous

alkali but on warming gives a clear solution. ‘A’ when treated with dil

 gives  which when boiled with conc. HCl under

re�ux and cooled, a solid compound  is crystallized out. The

mother liquor when separated and concentrated gives .  

Structure of compound ‘A’ can be

A. 

B. 

C. 

D. Both (a) and (b)

Answer: D

Watch Video Solution

(C16H13O2N)

H2SO4 B(C16H15O2N)

C(C8H6O4)

D(C8H12NCl)

https://dl.doubtnut.com/l/_t3lXeSJYqURg
https://dl.doubtnut.com/l/_buQwBVavPo8S


2. An organic compound 'A'  is insoluble in dil cold aqueous

alkali but on warming gives a clear solution. ‘A’ when treated with dil

 gives  which when boiled with conc. HCl under

re�ux and cooled, a solid compound  is crystallized out. The

mother liquor when separated and concentrated gives .  

 'M' product (M) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(C16H13O2N)

H2SO4 B(C16H15O2N)

C(C8H6O4)

D(C8H12NCl)

B
Soda lime
−−−−−→

Δ

https://dl.doubtnut.com/l/_buQwBVavPo8S


Practice Sheet 4 Match The Following Questions

3. An organic compound 'A'  is insoluble in dil cold aqueous

alkali but on warming gives a clear solution. ‘A’ when treated with dil

 gives  which when boiled with conc. HCl under

re�ux and cooled, a solid compound  is crystallized out. The

mother liquor when separated and concentrated gives .  

Compound ‘D' can be

A. 

B. 

C. 

D. Both (a) and (b)

Answer: D

Watch Video Solution

(C16H13O2N)

H2SO4 B(C16H15O2N)

C(C8H6O4)

D(C8H12NCl)

Ph(CH2)2NH +
3 Cl−

PhCH(CH3)NH +
3 Cl−

Ph. NH + (CH3)2Cl
−

https://dl.doubtnut.com/l/_36xJqUdA1yxl


1. Match the following columns

Watch Video Solution

2. Match the following columns

Watch Video Solution

https://dl.doubtnut.com/l/_jrBihBvdO4qn
https://dl.doubtnut.com/l/_B5kmyZCmMxtU


Practice Sheet 4 Integer Answer Type Questions

1. Examine the structural formulas of the following compounds and

identify how many are more basic than aniline 

  

Watch Video Solution

2. Of the following amines how many can give carbylamine reaction. 

Watch Video Solution

https://dl.doubtnut.com/l/_i1xG6e8fv9De
https://dl.doubtnut.com/l/_CUufcNJJMgNu


3. Of the following reactions how many reactions are used for

preparation of amines. 

Watch Video Solution

4. Of the following amine how many can be separated by Ho�mann's

mustard Oil Reaction. 

Watch Video Solution

https://dl.doubtnut.com/l/_CEg31A6vp9jF
https://dl.doubtnut.com/l/_GiabJ3duYKLt


Practice Sheet 5 Single Answer Questions

5. How many of the following amines are prepared by Gabrielpthalamide

reaction. 

Watch Video Solution

6. Of the following amines how many can give carbyl amine reaction 

Watch Video Solution

1. Which of the following compounds is an amine ?

https://dl.doubtnut.com/l/_E9pWmc5g4GWb
https://dl.doubtnut.com/l/_WDUJrnzARUPV
https://dl.doubtnut.com/l/_vZJyTNfw7mc0


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vZJyTNfw7mc0


2. Which of the following compounds exists as non-resolvable recemic

mixture ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Ux84A7TFA4Fs


3. Which of the following compounds loses optical activity due to

pyramidal inversion ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_Ux84A7TFA4Fs
https://dl.doubtnut.com/l/_bszOZ9miITaP


Answer: D

Watch Video Solution

4.   

The �nal product (B) is :

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_bszOZ9miITaP
https://dl.doubtnut.com/l/_0bcdBE3PWlKu


Answer: B

Watch Video Solution

5.   

The end product B of the above reaction is :

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_0bcdBE3PWlKu
https://dl.doubtnut.com/l/_fJ7K6EUUUXfC


Answer: A

View Text Solution

6.   

(Y) is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Ph − N
∣
H

− CH3

Ph − CH2 − NH2

Ph − N
∣
H

−

O

∣ ∣

C − H

Ph −
⊕
N ≡

Θ
C

https://dl.doubtnut.com/l/_fJ7K6EUUUXfC
https://dl.doubtnut.com/l/_7kmHAtGrtqLX
https://dl.doubtnut.com/l/_72FyiEqmNhrl


7. The major product formed in the reaction : 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_72FyiEqmNhrl


Answer: A

View Text Solution

8.   

The �nal product (Y) is :

A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_72FyiEqmNhrl
https://dl.doubtnut.com/l/_Voo1eJb2lXgD


Watch Video Solution

9. Among the following compounds which one will produce a Schi� base

on reaction with cyclopentanone ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_Voo1eJb2lXgD
https://dl.doubtnut.com/l/_j36n8ssPJbBb


Answer: C

Watch Video Solution

10. In which of the following reactions does the amine behaves as an acid

?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(C2H5)2NH + H2PtCl6

CH3NH2 + H2O

(Me2CH)2NH + n − C4H9Li

(C2H5)3N + BF3

11. Consider the following sequence of reactions: 

. The end productH2C = CH − CH = CH2

Br2 ( 1Mole )
−−−−−−−→

CCl4
A

1.KCN(excess)
−−−−−−−−→

2 .H2 ,Ni
B

https://dl.doubtnut.com/l/_j36n8ssPJbBb
https://dl.doubtnut.com/l/_KrWOwax0Gxf3
https://dl.doubtnut.com/l/_vvucVI8Hr57P


(B) is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2N − (CH2)2 − CH = CH − (CH2)2 − NH2

H2N − (CH2)6 − NH2

NC − CH2 − CH = CH − CH2 − CN

H2C = CH − C
∣

NH2

H − (CH2)2 − NH2

12. .

A. 

B. 

C. 

H3C − CH2 −

CH3

∣

C H − C
∣ ∣
O

− NH2
Br2 +KOH
−−−−−−→

Δ
A

1 .CH3I(excess)
−−−−−−−−→

2 .AgOH , Δ
B

CH3 − CH2 − CH = CH2

CH3 − CH2 −

CH3

∣

C H − C
∣ ∣
O

− N

CH3

/

\

CH3

H3C − CH = CH − CH3

https://dl.doubtnut.com/l/_vvucVI8Hr57P
https://dl.doubtnut.com/l/_TRUbfMmuAO47


D. 

Answer: A

Watch Video Solution

13.   

(Major product). The major product (B) is

A. 

B. 

https://dl.doubtnut.com/l/_TRUbfMmuAO47
https://dl.doubtnut.com/l/_Y6t8g3zGBud1


C. 

D. 

Answer: C

Watch Video Solution

14. The major product (X) of the reaction is 

https://dl.doubtnut.com/l/_Y6t8g3zGBud1
https://dl.doubtnut.com/l/_Yb5S3PyIB1m8


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Yb5S3PyIB1m8


Practice Sheet 5 More Than One Correct Answer Questions

15. Which of the following compounds does not liberate  on treatment

with  ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

N2

HNO2

H3C −

O

∣ ∣

C − NH2

H2N −

O

∣ ∣

C − NH2

H3C − N
∣
H

− CH3

https://dl.doubtnut.com/l/_e2kfHOC2iJHY


1. Consider the following reaction   

  

The starting substance 'A' can be

A. 

A
K2Cr2O7 ,H ⊕

−−−−−−−−→

https://dl.doubtnut.com/l/_hNVKnmYnEhfl


B. 

C. 

https://dl.doubtnut.com/l/_hNVKnmYnEhfl


D. 

Answer: A::B::D

Watch Video Solution

2. Which of the following reactions do not give  amine ?

A. 

B. 

C. 

D. 

10

Ph −

CH3

∣

C H − OH
NaCN ,H ⊕

−−−−−−→

Ph − CH = CH −

O

∣ ∣

C − NH2
NaOCl
−−−−→
CH3OH

Ph − C ≡ C −

O

∣ ∣

C − NH2
NaOBr
−−−→

Ph −

O

∣ ∣

C − Cl
NaN3

−−→
Δ

LiAlH4

−−−→

https://dl.doubtnut.com/l/_hNVKnmYnEhfl
https://dl.doubtnut.com/l/_CX4yQKBi9QCq


Answer: B::C::D

Watch Video Solution

3. Dopamine is a drug used in the treatment of Parkinson's disease 

  

Which of the following statements about this compound are correct ?

A. It can exist only in optically active forms

B. One mole will react with 3 mole of NaOH to form a salt

C. It can exist as a zwitter ion in the aqueous solution

D. It gives nitroso compound on treatmetn with 

Answer: A::B::C

Watch Video Solution

HNO2

https://dl.doubtnut.com/l/_CX4yQKBi9QCq
https://dl.doubtnut.com/l/_TjuSmKkYiQnO
https://dl.doubtnut.com/l/_N5E1WpFwh5Jm


4. Which of the following reactions represent major products ?

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

5. Consider the structures 

  

Which of the following statements are correct ?

A. Basic strength of II is greater than I

https://dl.doubtnut.com/l/_N5E1WpFwh5Jm
https://dl.doubtnut.com/l/_hfs16O0CXJMZ


B. Basic strength of II is less than that of I

C. Basic strength of IV is greater than III

D. Basic strength of IV is less than that of III

Answer: A::C

Watch Video Solution

6. Which of the following give Liebermann nitroso reaction ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_hfs16O0CXJMZ
https://dl.doubtnut.com/l/_Mn93gV0RV6qD


Answer: A::B

Watch Video Solution

7. Find out products which are formed by the following reaction 

A. . 

B. . 

C. . 

D. . 

a

b

c

d

https://dl.doubtnut.com/l/_Mn93gV0RV6qD
https://dl.doubtnut.com/l/_FTz2DnI9CBew


Answer: A::B

Watch Video Solution

8. The structural form of a compound  is resolvable, dissolve

in dil.HCl and reacts with . Compound a could be

A. . 

B. . 

C. . 

D. . 

Answer: A::C::D

Watch Video Solution

A(C6H11N)

HNO3

a

b

c

d

https://dl.doubtnut.com/l/_FTz2DnI9CBew
https://dl.doubtnut.com/l/_f44A7HGHZCC7


Practice Sheet 5 Linked Comprehension Type Questions Passage I

1. Amines are less reactive in substitution reactions. Their reactivity is

much lesser than alcohols and alkyl�ourides towards substitution.

Protonation of the amino group makes it a better leaving group, but not

nearly as good a leaving group as a protonated alcohol. Protonated

amino groups cannot be displaced by  because it would react

immediately with the acidic hydrogen which would convert it in to a poor

nucleophile. 

The leaving group in quartenary ammonium ion has about the same

leaving tendency as a protonated amino group but does not have acidic

hydrogen. The reaction of a quartenary ammonium ion with hydroxide

ion is known as Ho�mann elimination reaction. The leaving group is

tertiary amine. Since a tertiary amine is only a moderately good leaving

group, the reaction requires heat. The carbon to which the tertiary amine

is attached is designated as  carbon. 

When the hydroxide ion starts to remove a  H from a quartenary

ammonium ion, the leaving group does not immediately start to leave

because a tertiary amine is not a good leaving group. As a result, a partial

OH −

α

β

https://dl.doubtnut.com/l/_udFdbNUGJq2l


negative charge builds up on the carbon from which the proton is

removed. 

Which of the following statements is correct?

A.  value of protonated amine is more than that of protonated

alcohol

B.  valued of the protonated amine is less than that of

protonated alcohol

C.  value for protonated amine is equals to that protonated

alcohol

D.  value of amine is less than that of alcohol

Answer: A

Watch Video Solution

PKn

PKa

PKa

PKa

2. Amines are less reactive in substitution reactions. Their reactivity is

much lesser than alcohols and alkyl�ourides towards substitution.

https://dl.doubtnut.com/l/_udFdbNUGJq2l
https://dl.doubtnut.com/l/_8ofWVjAf3v0j


Protonation of the amino group makes it a better leaving group, but not

nearly as good a leaving group as a protonated alcohol. Protonated

amino groups cannot be displaced by  because it would react

immediately with the acidic hydrogen which would convert it in to a poor

nucleophile. 

The leaving group in quartenary ammonium ion has about the same

leaving tendency as a protonated amino group but does not have acidic

hydrogen. The reaction of a quartenary ammonium ion with hydroxide

ion is known as Ho�mann elimination reaction. The leaving group is

tertiary amine. Since a tertiary amine is only a moderately good leaving

group, the reaction requires heat. The carbon to which the tertiary amine

is attached is designated as  carbon. 

When the hydroxide ion starts to remove a  H from a quartenary

ammonium ion, the leaving group does not immediately start to leave

because a tertiary amine is not a good leaving group. As a result, a partial

negative charge builds up on the carbon from which the proton is

removed. 

Which of the following statements is correct?

OH −

α

β

https://dl.doubtnut.com/l/_8ofWVjAf3v0j


A. 

B. 

C. 

D. none

Answer: D

Watch Video Solution

3. Amines are less reactive in substitution reactions. Their reactivity is

much lesser than alcohols and alkyl�ourides towards substitution.

https://dl.doubtnut.com/l/_8ofWVjAf3v0j
https://dl.doubtnut.com/l/_mY6UzND12cvk


Protonation of the amino group makes it a better leaving group, but not

nearly as good a leaving group as a protonated alcohol. Protonated

amino groups cannot be displaced by  because it would react

immediately with the acidic hydrogen which would convert it in to a poor

nucleophile. 

The leaving group in quartenary ammonium ion has about the same

leaving tendency as a protonated amino group but does not have acidic

hydrogen. The reaction of a quartenary ammonium ion with hydroxide

ion is known as Ho�mann elimination reaction. The leaving group is

tertiary amine. Since a tertiary amine is only a moderately good leaving

group, the reaction requires heat. The carbon to which the tertiary amine

is attached is designated as  carbon. 

When the hydroxide ion starts to remove a  H from a quartenary

ammonium ion, the leaving group does not immediately start to leave

because a tertiary amine is not a good leaving group. As a result, a partial

negative charge builds up on the carbon from which the proton is

removed. 

Which of the following statements are true regarding Ho�mann

elimination ?

OH −

α

β

https://dl.doubtnut.com/l/_mY6UzND12cvk


A. it follows anti-zaitsev elimination

B. it forms only zaitsev product

C. no polar compounds are formed at the end of the reaction

D. it is given by only  amines

Answer: A

Watch Video Solution

10

4. Amines are less reactive in substitution reactions. Their reactivity is

much lesser than alcohols and alkyl�ourides towards substitution.

Protonation of the amino group makes it a better leaving group, but not

nearly as good a leaving group as a protonated alcohol. Protonated

amino groups cannot be displaced by  because it would react

immediately with the acidic hydrogen which would convert it in to a poor

nucleophile. 

The leaving group in quartenary ammonium ion has about the same

leaving tendency as a protonated amino group but does not have acidic

OH −

https://dl.doubtnut.com/l/_mY6UzND12cvk
https://dl.doubtnut.com/l/_HKxGT2soEpbY


hydrogen. The reaction of a quartenary ammonium ion with hydroxide

ion is known as Ho�mann elimination reaction. The leaving group is

tertiary amine. Since a tertiary amine is only a moderately good leaving

group, the reaction requires heat. The carbon to which the tertiary amine

is attached is designated as  carbon. 

When the hydroxide ion starts to remove a  H from a quartenary

ammonium ion, the leaving group does not immediately start to leave

because a tertiary amine is not a good leaving group. As a result, a partial

negative charge builds up on the carbon from which the proton is

removed. 

The compounds 'C' in question number 31 on heating with moist silver

oxide gives

A. Propene

B. 1-Butene

C. Ethylene

D. 2-Butene

Answer: C

α

β

https://dl.doubtnut.com/l/_HKxGT2soEpbY


Watch Video Solution

5. Amines are less reactive in substitution reactions. Their reactivity is

much lesser than alcohols and alkyl�ourides towards substitution.

Protonation of the amino group makes it a better leaving group, but not

nearly as good a leaving group as a protonated alcohol. Protonated

amino groups cannot be displaced by  because it would react

immediately with the acidic hydrogen which would convert it in to a poor

nucleophile. 

The leaving group in quartenary ammonium ion has about the same

leaving tendency as a protonated amino group but does not have acidic

hydrogen. The reaction of a quartenary ammonium ion with hydroxide

ion is known as Ho�mann elimination reaction. The leaving group is

tertiary amine. Since a tertiary amine is only a moderately good leaving

group, the reaction requires heat. The carbon to which the tertiary amine

is attached is designated as  carbon. 

When the hydroxide ion starts to remove a  H from a quartenary

ammonium ion, the leaving group does not immediately start to leave

because a tertiary amine is not a good leaving group. As a result, a partial

OH −

α

β

https://dl.doubtnut.com/l/_HKxGT2soEpbY
https://dl.doubtnut.com/l/_UZA9p7HQw1MT


Practice Sheet 5 Linked Comprehension Type Questions Passage Ii

negative charge builds up on the carbon from which the proton is

removed. 

Which of the following statements is correct?

A. A and B

B. B and C

C. A, B and C

D. All are inactive

Answer: A

Watch Video Solution

1. There are some isomeric amines containing only one N atom. Each one

of which forms a chloride salt on treatment with HCl containing 32.42%

chlorine. None of them decolorizes  water.  

How many of them can evolve  on reaction with  ?

Br2

N2 HNO2

https://dl.doubtnut.com/l/_UZA9p7HQw1MT
https://dl.doubtnut.com/l/_HDKB19LmkxNn


Practice Sheet 5 Linked Comprehension Type Questions

A. 2

B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

1. There are some isomeric amines containing only one N atom. Each one

of which forms a chloride salt on treatment with HCl containing 32.42%

chlorine. None of them decolorizes  water.  

How many of them contains chiral carbon ?

A. 1

B. 2

Br2

https://dl.doubtnut.com/l/_HDKB19LmkxNn
https://dl.doubtnut.com/l/_NZ3HnA56zklW


C. 3

D. 4

Answer: A

Watch Video Solution

2. There are some isomeric amines containing only one N atom. Each one

of which forms a chloride salt on treatment with HCl containing 32.42%

chlorine. None of them decolorizes  water.  

How many of them does not give carbyl amine test ?

A. 2

B. 3

C. 4

D. 5

Answer: C

W t h Vid S l ti

Br2

https://dl.doubtnut.com/l/_NZ3HnA56zklW
https://dl.doubtnut.com/l/_b3HiMfacSKHa


Watch Video Solution

3. Match the following columns

Watch Video Solution

4. Match the following columns

Watch Video Solution

https://dl.doubtnut.com/l/_b3HiMfacSKHa
https://dl.doubtnut.com/l/_MlK00a2OxVpJ
https://dl.doubtnut.com/l/_QrC8oSWe2lmZ


Practice Sheet 5 Match The Following Questions

Practice Sheet 5 Integer Answer Type Questions

1. Match the following columns

Watch Video Solution

1. Of the following reactions, how many reaction are used for the

preparation of amines 

https://dl.doubtnut.com/l/_shKIamqqK4YW
https://dl.doubtnut.com/l/_dtiTjZelBFXz


Watch Video Solution

2. Of the following amines how many can be seperated by Ho�mann's

mustard oil reaction 

Watch Video Solution

3.   

No. of  in the productπe− ,s

https://dl.doubtnut.com/l/_dtiTjZelBFXz
https://dl.doubtnut.com/l/_0BxU0dTUhXEs
https://dl.doubtnut.com/l/_1TnawbcWwJME


Watch Video Solution

4. Of the following reactions, how many, are used for (a) preparation of 

-Amines, (b) preparation of -amines , (c) preparation of -Amines  

  

Watch Video Solution

10

20 30

5. How many of the following nucleophiles are better than  for

nucleophilic substitution reaction 

NH3

https://dl.doubtnut.com/l/_1TnawbcWwJME
https://dl.doubtnut.com/l/_UUMBBblmkfQL
https://dl.doubtnut.com/l/_BKmvtg33DXJr


Practice Sheet 6 Single Answer Questions

Watch Video Solution

1. An organic compound (A) on reduction gives a compound (B) which on

reaction with  and NaOH form (C). The compound (C) on catalytic

reduction gives N-methylaniline. The compound (A) is

A. 

B. 

C. 

CHCl3

https://dl.doubtnut.com/l/_BKmvtg33DXJr
https://dl.doubtnut.com/l/_0t5QeYUWoJIo


D. 

Answer: A

Watch Video Solution

2. The end product (B) of the reaction sequence 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_0t5QeYUWoJIo
https://dl.doubtnut.com/l/_2K8TvTwgzF3i


D. 

Answer: B

Watch Video Solution

3. The major product of the reaction is 

A. 

B. 

https://dl.doubtnut.com/l/_2K8TvTwgzF3i
https://dl.doubtnut.com/l/_x6gi4CkrJEil


C. 

D. 

Answer: C

Watch Video Solution

4. The reaction of p-aminophenol with one mole of acetyl chloride in

presence of pyridine gives

A. 

https://dl.doubtnut.com/l/_x6gi4CkrJEil
https://dl.doubtnut.com/l/_wWbMtHVUSpgf


B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_wWbMtHVUSpgf


5. The major product (X) formed in the reaction 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_IC2VmKSAiLu8


Answer: A

Watch Video Solution

6. Only one of the following amines will lose its nitrogen atom as

trimethyl amine by repeated Hofmann elimination reactions

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_IC2VmKSAiLu8
https://dl.doubtnut.com/l/_jyJpuTv9HjxW


Answer: D

Watch Video Solution

7. The nitrogen atom in each of the following tertiary amines may be

removed as trimethyl amine by repeated Hofmann elimination. 

Which of the following amines requires the greater number of Ho�mann

sequence to accomplish this ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_jyJpuTv9HjxW
https://dl.doubtnut.com/l/_IpS3c0ymPNtc


D. 

Answer: A

Watch Video Solution

8. The Hinsberg test of a  compound produces a solid that is

insoluble in 10% aq. NaOH. This solid derivative dissolves in 10% aq.

sulphuric acid. Which of the following would best �t these facts ?

A. 

B. 

C. 

C5H14N2

https://dl.doubtnut.com/l/_IpS3c0ymPNtc
https://dl.doubtnut.com/l/_5TTm9fYqEBCE


D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5TTm9fYqEBCE


9. Which of the following amines reacts most rapidly with 

https://dl.doubtnut.com/l/_XiHhbdlKQobO


A. 

B. 

C. 

https://dl.doubtnut.com/l/_XiHhbdlKQobO


D. 

Answer: D

Watch Video Solution

10.   

Identify B :

A. 

https://dl.doubtnut.com/l/_XiHhbdlKQobO
https://dl.doubtnut.com/l/_EglRcOZoc7wv


B. 

C. 

D. 

Answer: D

Watch Video Solution

11. Consider the following sequence of reactions 

  

The products (B) and (C) are

https://dl.doubtnut.com/l/_EglRcOZoc7wv
https://dl.doubtnut.com/l/_rUiaXP3vOOqe


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

12.  

Product (Y) of the reaction

https://dl.doubtnut.com/l/_rUiaXP3vOOqe
https://dl.doubtnut.com/l/_JnrmrZkjxLuK


A. 

B. 

C. Mixture of (a) and (b)

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_JnrmrZkjxLuK


13.   

 Product. The �nal product is

A. . 

Br2 +KOH
−−−−−−→

A

https://dl.doubtnut.com/l/_cUErF96WiYGM


B. . 

C. . 

D. . 

Answer: A

Watch Video Solution

B

C

D

https://dl.doubtnut.com/l/_cUErF96WiYGM


14. Identify the �nal product of following reaction 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xXhji43aKLBj


15. Consider the following sequence of reaction 

  

. The �nal product is

A. 

B. 

1 .Br2 +KOH
−−−−−−−→

2 . Δ

https://dl.doubtnut.com/l/_xXhji43aKLBj
https://dl.doubtnut.com/l/_dbuJHUZwyoEM


C. 

D. 

Answer: B

Watch Video Solution

16. Identify the �nal product of following sequence of reaction 

A. 

https://dl.doubtnut.com/l/_dbuJHUZwyoEM
https://dl.doubtnut.com/l/_yw9aGNS0thqy


B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_yw9aGNS0thqy


Practice Sheet 6 More Than One Correct Answer

17. Identify the major product of following reaction : 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Tx5xxEkT2Hh8


1. Which of the following amine(s) after diazotization will form deeply

coloured azodye with alkaline solution of -naphthol :

A. 

B. 

C. 

β

https://dl.doubtnut.com/l/_UPu3qGNHRqMs


D. 

Answer: B::D

Watch Video Solution

2. The amines that will give o�  upon treatment with  and dil. 

 at 0 to  is(are)

A. 

N2 NaNO2

H2SO4 50C

https://dl.doubtnut.com/l/_UPu3qGNHRqMs
https://dl.doubtnut.com/l/_Lz9rOMWbbmAc


B. 

C. 

D. 

Answer: A::C

Watch Video Solution

https://dl.doubtnut.com/l/_Lz9rOMWbbmAc


3. Reaction of  with a mixture of  and KOH gives  as

the main product. The intermediates involved in the reaction are

A. 

B. 

C. 

D. 

Answer: A::C::D

Watch Video Solution

RCONH2 Br2 RNH2

R −

O

∣ ∣

C − NHBr

R − NHBr

R − N = C = O

4. Complete the following reaction

https://dl.doubtnut.com/l/_Ze8H6hGwp3nR
https://dl.doubtnut.com/l/_iJuhgEjwrZNO


Practice Sheet 6 Linked Comprehension Type Questions Passage I

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_iJuhgEjwrZNO


1. An organic compound ‘A’ has molecular formula  and it can

be resolve into enantiomers. Adoes not decolourise bromine water

solution. A on re�uxing with dilute , yields another revolvable

compound  which give e�ervescence with . B on

treatment with  yields  on heating with

concentrated  yields ester D .  

Compound A on reduction with  followed by treatment of 

yields following compound : 

  

Find out structure of compound 'A''

C9H13NO

H2SO4

B(C9H14O3) NaHCO3

NaBH4 C(C9H16O3)

H2SO4 (C6H14O2)

LiAlH4 H2SO4

https://dl.doubtnut.com/l/_VhiRnKHQ0KzQ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2. An organic compound ‘A’ has molecular formula  and it can

be resolve into enantiomers. Adoes not decolourise bromine water

solution. A on re�uxing with dilute , yields another revolvable

compound  which give e�ervescence with . B on

C9H13NO

H2SO4

B(C9H14O3) NaHCO3

https://dl.doubtnut.com/l/_VhiRnKHQ0KzQ
https://dl.doubtnut.com/l/_ELNtvREm8doT


treatment with  yields  on heating with

concentrated  yields ester D .  

Compound A on reduction with  followed by treatment of 

yields following compound : 

  

The sweet smelling neutral compound D is

A. 

B. 

C. 

NaBH4 C(C9H16O3)

H2SO4 (C6H14O2)

LiAlH4 H2SO4

https://dl.doubtnut.com/l/_ELNtvREm8doT


D. 

Answer: C

Watch Video Solution

3. An organic compound ‘A’ has molecular formula  and it can

be resolve into enantiomers. Adoes not decolourise bromine water

solution. A on re�uxing with dilute , yields another revolvable

compound  which give e�ervescence with . B on

treatment with  yields  on heating with

concentrated  yields ester D .  

Compound A on reduction with  followed by treatment of 

yields following compound : 

C9H13NO

H2SO4

B(C9H14O3) NaHCO3

NaBH4 C(C9H16O3)

H2SO4 (C6H14O2)

LiAlH4 H2SO4

https://dl.doubtnut.com/l/_ELNtvREm8doT
https://dl.doubtnut.com/l/_jNkHsO1y66FH


  

Due to reduction of optically pure 'B'two isomeric product 'C' form.

Isomeric product 'C' are :

A. Enantiomers

B. Diastereomers

C. Position isomers

D. Functional isomers

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jNkHsO1y66FH


Practice Sheet 6 Linked Comprehension Type Questions Passage Ii

1. when an primay aromatic amine is treated with  at 

, a diazonium salt is formed and the reaction is called diazo

reaction. In this reaction mineral acid must be added to prevent the

coupling reaction of diazonium salt with excess of aryl amine. Diazonium

salt is highly useful in the synthesis of number of coloured dyes. 

For the following diazonium ion the decreasing order of reactivity of

these ion in azo-coupling rcaction 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NaNO2 + HCl

00 − 50C

Q > S > R > P

Q > S > P > R

P > Q > R > S

S > R > Q > P

https://dl.doubtnut.com/l/_D7kHAyScTVQB


2. when an primay aromatic amine is treated with  at 

, a diazonium salt is formed and the reaction is called diazo

reaction. In this reaction mineral acid must be added to prevent the

coupling reaction of diazonium salt with excess of aryl amine. Diazonium

salt is highly useful in the synthesis of number of coloured dyes. 

In the given reaction 

A. 

B. 

C. 

NaNO2 + HCl

00 − 50C

https://dl.doubtnut.com/l/_D7kHAyScTVQB
https://dl.doubtnut.com/l/_dWjXD15wS4df


D. 

Answer: A

Watch Video Solution

3. when an primay aromatic amine is treated with  at 

, a diazonium salt is formed and the reaction is called diazo

reaction. In this reaction mineral acid must be added to prevent the

coupling reaction of diazonium salt with excess of aryl amine. Diazonium

salt is highly useful in the synthesis of number of coloured dyes. 

When 2, 4-dinitroaniline react with  at  followed by

reaction with anisole, a coloured compound is formed which can be given

as

A. 

B. 

NaNO2 + HCl

00 − 50C

NaNO2 + HCI 50C

https://dl.doubtnut.com/l/_dWjXD15wS4df
https://dl.doubtnut.com/l/_NFweRz1FHxZV


Practice Sheet 6 Match The Following Questions

C. 

D. 

Answer: C

Watch Video Solution

1. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_NFweRz1FHxZV
https://dl.doubtnut.com/l/_zD9WyYDSJXFl
https://dl.doubtnut.com/l/_eNje5BiHdoos


Practice Sheet 6 Integer Answer Type Questions

2. Match the following 

Watch Video Solution

1. How many aromatic (six membered carbocyclic) isomers possible for

.

Watch Video Solution

MFC7H9N

2. What is the No. of isomers with pyridine nucleus possible for

compounds having ?

Watch Video Solution

MFC7H9N

https://dl.doubtnut.com/l/_eNje5BiHdoos
https://dl.doubtnut.com/l/_G5lCnIu4gths
https://dl.doubtnut.com/l/_hu1xeuHiH3vR
https://dl.doubtnut.com/l/_2zWQQ5COWx4R


3. Among the following compounds how mnay of them is more basic than

aniline? 

Watch Video Solution

4. How many of the below listed compounds on tereatment with 

would go for ring expansion? 

Watch Video Solution

HNO2

https://dl.doubtnut.com/l/_2zWQQ5COWx4R
https://dl.doubtnut.com/l/_AZ6NOrUhIpep


5. The total number of organic products formed at the end of the

reaction sequence is / are 

Watch Video Solution

C6H5 − CO − CH3
NH2OH
−−−−→

P2O5

−−→
H2 H −

−−−−→

∅

O

6. Urea reacts with Br, in dil HCl to liberate . How many moles of

bromine is required to completely react with one mole of urea?

Watch Video Solution

N2

7. How many isomeric butanes are formed by the diazotization of

?

Watch Video Solution

n − Bu − NH2

https://dl.doubtnut.com/l/_AZ6NOrUhIpep
https://dl.doubtnut.com/l/_ErD4KqXn2kba
https://dl.doubtnut.com/l/_qFrgtPHt1qZZ
https://dl.doubtnut.com/l/_Pr2P7mgJbJoE


8. How many moles of NaOH are consumed in the following Hofmann

Bromamide reaction?

Watch Video Solution

9. How mnay of the following amines are more basic than aniline? 

Watch Video Solution

https://dl.doubtnut.com/l/_o2aRSMScrgbn
https://dl.doubtnut.com/l/_2ciVEpjSqDF7

